BANK BRADESCO Form 6-K March 14, 2017

# UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

#### FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2017 Commission File Number 1-15250

#### BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

#### **BANK BRADESCO**

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F.  Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

#### **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

**Openning Balance** 

**Group and Family Dependants** 

		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares Non-Voting Shares	2,028,821,219 62,644,292 Closing Balance	73.0632 2.2559	36.5316 1.1279		
	· ·	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		

 Common Shares
 2,028,821,219
 73.0632
 36.5316

 Non-Voting Shares
 62,644,292
 2.2559
 1.1279

# CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family Dependants	(x)Board of Directors	( ) Board of I Office		( ) Aud Commit		( ) Technical and Advisory Agencies	
		Openning I	Balance				
						% of participation	
Type of Securities/Derivatives					ty	Same type of Shares	
	Common Shar	es		18,9	38,416	0.6820 0.3410	
	Non-Voting Sha			28,2	21,861	1.0163 0.5081	
		Month Mov	vement				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$	
Non-Voting Shares		Buy	10-Feb	2,277	31.95	R\$ 72,750.15	
Non-Voting Shares		Buy	10-Feb	499	31.96	R\$ 15,948.04	
Non-Voting Shares		Buy	10-Feb	142	31.97		
Non-Voting Shares		Buy	10-Feb	406		. ,	
Non-Voting Shares		Buy	10-Feb	259		' '	
Non-Voting Shares		Buy	10-Feb	436		. ,	
Non-Voting Shares		Buy	10-Feb	439		R\$ 14,052.39	
Non-Voting Shares		Buy	10-Feb	735			
Non-Voting Shares		Buy	10-Feb	114		• •	
Non-Voting Shares		Buy	10-Feb	38	32.04	' '	
Non-Voting Shares		Buy	10-Feb	37	32.05	' '	
Non-Voting Shares		Buy	10-Feb	33	32.06		
Non-Voting Shares		Buy	10-Feb	2	32.07		
Non-Voting Shares		Buy	10-Feb	23	32.08	·	
Non-Voting Shares		Buy	10-Feb	66	32.09		
Non-Voting Shares		Buy	10-Feb	49	32.11	R\$ 1,573.39	
Non-Voting Shares		Buy	10-Feb	28	32.12	·	
Non-Voting Shares		Buy	10-Feb	52	32.13		
Non-Voting Shares		Buy	10-Feb	61	32.14	' '	
Non-Voting Shares		Buy	10-Feb 10-Feb	3	32.15	•	
Non-Voting Shares		Buy	เบ-คย	33	32.16	R\$ 1,061.28	

Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	47	32.19	R\$ 1,512.93
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	15	32.23	R\$ 483.45
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	3	32.26	R\$ 96.78
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	7	32.28	R\$ 225.96
Non-Voting Shares	Buy	10-Feb	3	32.29	R\$ 96.87
Non-Voting Shares	Buy	10-Feb	40	32.30	R\$ 1,292.00
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb		32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,496.96
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb		32.66	R\$ 14,762.32
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 16,465.68
Non-Voting Shares	Buy	10-Feb		32.68	R\$ 23,202.80
Non-Voting Shares	Buy	10-Feb	1,544	32.69	R\$ 50,473.36
Non-Voting Shares	Buy	10-Feb	1,871	31.95	R\$ 59,778.45
Non-Voting Shares	Buy	10-Feb		31.96	R\$ 15,916.08
Non-Voting Shares	Buy	10-Feb		31.97	R\$ 4,539.74
Non-Voting Shares	Buy	10-Feb		31.98	R\$ 12,887.94
Tion voing onales	ьшу	10-1 60	403	01.30	1 (ψ 12,007.34

Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
•	•		115		R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb		32.03	
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
_	-	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	22		R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.80
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
ŭ	•				• •

Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	390	32.62	R\$ 12,721.80
Non-Voting Shares	Buy	10-Feb	892	32.63	R\$ 29,105.96
Non-Voting Shares	Buy	10-Feb	1,643	32.64	R\$ 53,627.52
Non-Voting Shares	Buy	10-Feb	454	32.65	R\$ 14,823.10
Non-Voting Shares	Buy	10-Feb	452	32.66	R\$ 14,762.32
Non-Voting Shares	Buy	10-Feb	499	32.67	R\$ 16,302.33
Non-Voting Shares	Buy	10-Feb	711	32.68	R\$ 23,235.48
Non-Voting Shares	Buy	10-Feb	1,039	32.69	R\$ 33,964.91
Non-Voting Shares	Buy	10-Feb	360	31.96	R\$ 11,505.60
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	437	32.01	R\$ 13,988.37
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	65	32.09	R\$ 2,085.85
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	•	10-Feb	27	32.11	R\$ 867.24
•	Buy	10-Feb	55	32.12	R\$ 1,767.15
Non-Voting Shares	Buy		60	32.13	·
Non-Voting Shares	Buy	10-Feb 10-Feb	5	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 160.75
Non-Voting Shares	Buy				R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36

Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	1,642		R\$ 53,594.88
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb	101	32.66	R\$ 3,298.66
Non-Voting Shares	Buy	10-Feb	63	32.67	R\$ 2,058.21
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	10	32.69	R\$ 326.90
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	404	31.98	R\$ 12,919.92
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb		32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	31	32.06	R\$ 993.86
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 1,735.02
Non-Voting Shares		10-Feb	60	32.14	R\$ 1,928.40
•	Buy	10-Feb	4	32.14	R\$ 128.60
Non-Voting Shares Non-Voting Shares	Buy Buy	10-Feb	31	32.15	R\$ 996.96
_	•		6	32.10	
Non-Voting Shares	Buy	10-Feb 10-Feb		32.17	R\$ 193.02 R\$ 2,316.96
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88

	_				
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
_	•	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy		155	32.39	
Non-Voting Shares	Buy	10-Feb			R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391		R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,692.80
Non-Voting Shares	Buy	10-Feb	-	32.65	R\$ 14,692.50
Non-Voting Shares	Buy	10-Feb	100		R\$ 3,266.00
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 2,025.54
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	9	32.69	R\$ 294.21
<u> </u>				31.95	
Non-Voting Shares	Buy	10-Feb	1,063		R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	497		R\$ 15,884.12
Non-Voting Shares	Buy	10-Feb		31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb		31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435		R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54

Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
•	-	10-Feb	24	32.25	
Non-Voting Shares	Buy				R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,378.20
-	•				•

Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,772.09
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	1,641	32.64	R\$ 53,562.24
Non-Voting Shares	Buy	10-Feb	452	32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb	452	32.66	R\$ 14,762.32
Non-Voting Shares	Buy	10-Feb	504	32.67	R\$ 16,465.68
Non-Voting Shares	Buy	10-Feb	557	32.68	R\$ 18,202.76
Non-Voting Shares	Buy	10-Feb	200	32.69	R\$ 6,538.00
Non-Voting Shares	Buy	10-Feb	1,063	31.95	R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	498	31.96	R\$ 15,916.08
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	402	31.98	R\$ 12,855.96
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74		R\$ 2,381.32
Non-Voting Shares	•	10-Feb		32.19	R\$ 1,512.93
Non-Voting Shares	Buy				
•	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45

Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	273	32.61	R\$ 8,902.53
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	1,647	32.64	R\$ 53,758.08
Non-Voting Shares	Buy	10-Feb	450	32.65	R\$ 14,692.50
Non-Voting Shares	Buy	10-Feb	451	32.66	R\$ 14,729.66
Non-Voting Shares	Buy	10-Feb	501	32.67	R\$ 16,367.67
Non-Voting Shares	Buy	10-Feb	559	32.68	R\$ 18,268.12
Non-Voting Shares	Buy	10-Feb	197	32.69	R\$ 6,439.93
Non-Voting Shares	Buy	10-Feb	1,063	31.95	R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	497	31.96	R\$ 15,884.12
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.12	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,896.26
Non-Voting Shares	-	10-Feb	5	32.14	R\$ 160.75
•	Buy				
Non-Voting Shares	Buy	10-Feb 10-Feb	32 8	32.16 32.17	R\$ 1,029.12 R\$ 257.36
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	73 49	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80

Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
	•	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy		51	32.56	
Non-Voting Shares	Buy	10-Feb			R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57 32.58	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb		32.59	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,772.09
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	1,641	32.64	R\$ 53,562.24
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb	451	32.66	R\$ 14,729.66
Non-Voting Shares	Buy	10-Feb	504		R\$ 16,465.68
Non-Voting Shares	Buy	10-Feb		32.68	R\$ 18,268.12
Non-Voting Shares	Buy	10-Feb	199	32.69	R\$ 6,505.31
Non-Voting Shares	Buy	10-Feb	1,063	31.95	R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	498	31.96	R\$ 15,916.08
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	729	32.02	R\$ 23,342.58

Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	47	32.19	R\$ 1,512.93
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
•	•	10-Feb	24	32.25	
Non-Voting Shares	Buy				R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,345.60
	zay				

Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31		
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28		
Non-Voting Shares	Buy	10-Feb	892	32.63	R\$ 29,105.96		
Non-Voting Shares	Buy	10-Feb	1,637	32.64	R\$ 53,431.68		
Non-Voting Shares	Buy	10-Feb	453	32.65	R\$ 14,790.45		
Non-Voting Shares	Buy	10-Feb	453	32.66	R\$ 14,794.98		
Non-Voting Shares	Buy	10-Feb	500	32.67	R\$ 16,335.00		
Non-Voting Shares	Buy	10-Feb	556	32.68	R\$ 18,170.08		
Non-Voting Shares	Buy	10-Feb	207	32.69	R\$ 6,766.83		
Non-Voting Shares	Total		93,594		R\$ 3,028,390.98		
	Closing Balance						
					0/ ( !!!!!		

% of participation

Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	18,938,416	0.6820 0.3410
Non-Voting Shares	28,315,455	1.0197 0.5098

Company: Bradesco Leasing S.A. Arrendamento Mercantil							
Group and Family Dependants	(x)Board of Directors	( ) Board of Executive Officers	() Audit Committee	٠,	echnical and sory Agencies		
		<b>Openning Balance</b>					
				% o	f participation		
Тур	Quantity		e type of nares				
		0	0.0000 0.0000				
Non-Voting Shares				0	0.0000 0.0000		
		Closing Balance		0/ •	f mauticination		
				% 0	f participation		
Тур	e of Securities/De	rivatives	Quantity		e type of pares		
	Common Share	es		0	0.0000 0.0000		
	Non-Voting Shar	res		0	0.0000 0.0000		

# CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family Dependants	( )Board of Directors	(X) Board of Executive Officers		() Audit Committee		( ) Technical and Advisory Agencies	
Openning Balance							
						% of participation	
Type of Securities/Derivatives				Quantity		Same type of Shares Total	
	Common Shar Non-Voting Sha				82,474 02,830		
	Non-voing Sna	Month Mov	/ement	3,2	02,030	0.1155 0.0576	
		month mo	, cilicit				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$	
Non-Voting Shares		Buy	10-Feb	359	31.96	R\$ 11,473.64	
Non-Voting Shares		Buy	10-Feb	143	31.97	R\$ 4,571.71	
Non-Voting Shares		Buy	10-Feb	403	31.98	' '	
Non-Voting Shares		Buy	10-Feb	259		' '	
Non-Voting Shares		Buy	10-Feb	435			
Non-Voting Shares		Buy	10-Feb	438		R\$ 14,020.38	
Non-Voting Shares		Buy	10-Feb	727		' '	
Non-Voting Shares		Buy	10-Feb	114		. ,	
Non-Voting Shares		Buy	10-Feb	40	32.04	' '	
Non-Voting Shares		Buy	10-Feb	37			
Non-Voting Shares		Buy	10-Feb		32.06		
Non-Voting Shares		Buy	10-Feb		32.07	•	
Non-Voting Shares		Buy	10-Feb	23		•	
Non-Voting Shares		Buy	10-Feb	65	32.09	' '	
Non-Voting Shares		Buy	10-Feb	49	32.11	R\$ 1,573.39	
Non-Voting Shares		Buy	10-Feb	28		·	
Non-Voting Shares		Buy	10-Feb	54	32.13		
Non-Voting Shares		Buy	10-Feb	60	32.14	' '	
Non-Voting Shares		Buy	10-Feb	4			
Non-Voting Shares		Buy	10-Feb	31	32.16	R\$ 996.96	

Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	46	32.30	R\$ 1,485.80
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,692.80
Non-Voting Shares	Buy	10-Feb	450	32.65	R\$ 14,692.50
Non-Voting Shares	Buy	10-Feb	100	32.66	R\$ 3,266.00
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 2,025.54
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	9	32.69	R\$ 294.21
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	•	10-Feb	259	31.90	R\$ 8,285.41
<u> </u>	Buy				
Non-Voting Shares	Buy	10-Feb	433	32.00	R\$ 13,920.00

Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	40	32.04	R\$ 1,281.60
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	5	32.17	R\$ 160.85
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb		32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	-	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy Buy	10-Feb	51	32.56	R\$ 1,660.56
<u> </u>	•				
Non-Voting Shares	Buy	10-Feb	31 100	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03

Non-Voting Shares	Buy	10-Feb	257		R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	1,645	32.64	R\$ 53,692.80
Non-Voting Shares	Buy	10-Feb	451	32.65	R\$ 14,725.15
Non-Voting Shares	Buy	10-Feb	99	32.66	R\$ 3,233.34
Non-Voting Shares	Buy	10-Feb	62	32.67	R\$ 2,025.54
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	9	32.69	R\$ 294.21
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy Buy	10-Feb	26	32.36	R\$ 841.36
<u> </u>	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares	Buy	10-Feb	26 5	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5 155	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45

Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	1,641	32.64	R\$ 53,562.24
Non-Voting Shares	Buy	10-Feb	449	32.65	R\$ 14,659.85
Non-Voting Shares	Buy	10-Feb	100	32.66	R\$ 3,266.00
Non-Voting Shares	Buy	10-Feb	63	32.67	R\$ 2,058.21
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	12	32.69	R\$ 392.28
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	41	32.04	R\$ 1,313.64
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27		R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7		R\$ 225.19
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67		R\$ 2,158.74
Tabli- voling Shares	ьиу	10-1 60	07	اک.کک	1 τφ 2, 130.74

Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,594.88
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb		32.66	R\$ 3,331.32
Non-Voting Shares	Buy	10-Feb	60	32.67	R\$ 1,960.20
Non-Voting Shares		10-Feb	3	32.68	R\$ 98.04
•	Buy	10-Feb	10	32.69	
Non-Voting Shares	Buy		360	31.96	R\$ 326.90
Non-Voting Shares	Buy	10-Feb			R\$ 11,505.60
Non-Voting Shares	Buy	10-Feb		31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	402	31.98	R\$ 12,855.96
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	729	32.02	R\$ 23,342.58
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	31	32.06	R\$ 993.86

	_		_		
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	•	10-Feb	95	32.21	R\$ 3,059.95
•	Buy			32.22	
Non-Voting Shares	Buy	10-Feb	67		R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
_	-				·
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	118	32.59	R\$ 3,845.62
Non-Voting Shares	Buy	10-Feb	254	32.60	R\$ 8,280.40
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	1,647	32.64	R\$ 53,758.08
Non-Voting Shares	Buy	10-Feb	450	32.65	R\$ 14,692.50
	•				

Non-Voting Shares	Buy	10-Feb	102	32.66	R\$ 3,331.32
Non-Voting Shares	Buy	10-Feb	60	32.67	R\$ 1,960.20
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	7	32.69	R\$ 228.83
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	434	32.00	R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	2	32.15	R\$ 64.30
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9		R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	<del>-</del>	10-Feb	47	32.30	R\$ 1,518.10
•	Buy Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares Non-Voting Shares	<del>-</del>	10-Feb	4	32.34	
<u> </u>	Buy				R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5 155	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00

	_				54 64 5 66
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	835	32.64	R\$ 27,254.40
Non-Voting Shares	Buy	10-Feb	335	32.65	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	46	32.66	R\$ 1,502.36
Non-Voting Shares	Buy	10-Feb	7	32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	133	31.98	R\$ 4,253.34
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	113	32.02	R\$ 3,619.39
•	•				
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb		32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
	,		•		φ . = 0.00

Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	-	10-Feb	26	32.50	R\$ 845.00
•	Buy	10-Feb			
Non-Voting Shares	Buy		26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	276	32.61	R\$ 9,000.36
Non-Voting Shares	Buy	10-Feb	392	32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	896	32.63	R\$ 29,236.48
Non-Voting Shares	Buy	10-Feb	839	32.64	R\$ 27,384.96
Non-Voting Shares	Buy	10-Feb	329	32.65	R\$ 10,741.85
Non-Voting Shares	Buy	10-Feb	42	32.66	R\$ 1,371.72
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	-	10-Feb		32.17	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb		32.10	R\$ 1,706.07
TWOIT-VOILING SHATES	Buy	IO-LAN	53	52.13	пφ 1,700.07

Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
	-	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy				•
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	836	32.64	R\$ 27,287.04
Non-Voting Shares	Buy	10-Feb	334	32.65	R\$ 10,905.10
Non-Voting Shares	Buy	10-Feb	46	32.66	R\$ 1,502.36
Non-Voting Shares	Buy	10-Feb	7	32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	434	32.00	R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.90
INOTITY OF THE STATES	ьиу	וט-ו כט	30	JZ.UJ	1 τφ 1,217.90

Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares		10-Feb	25	32.48	R\$ 812.00
•	Buy			32.50	
Non-Voting Shares	Buy	10-Feb	26		R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	837	32.64	R\$ 27,319.68

	_				
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 10,905.10
Non-Voting Shares	Buy	10-Feb		32.66	R\$ 1,437.04
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	260	31.99	R\$ 8,317.40
Non-Voting Shares	Buy	10-Feb	434	32.00	R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	2	32.15	R\$ 64.30
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	6	32.17	R\$ 193.02
	Buy		72	32.17	•
Non-Voting Shares	Buy	10-Feb			R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 551.99
•	•				•

Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	835	32.64	R\$ 27,254.40
Non-Voting Shares	Buy	10-Feb	335	32.65	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	46	32.66	R\$ 1,502.36
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	1	32.68	R\$ 32.68
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	54	32.12	R\$ 1,735.02
Non-Voting Shares		10-Feb		32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	31	32.15	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	
•	Buy			32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71 52	32.19	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb			R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134		R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	/8	32.33	R\$ 2,521.74

Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	254		R\$ 8,280.40
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	837	32.64	R\$ 27,319.68
Non-Voting Shares	Buy	10-Feb	335	32.65	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	47	32.66	R\$ 1,535.02
Non-Voting Shares	Buy	10-Feb	6	32.67	R\$ 196.02
Non-Voting Shares	Buy	10-Feb	1	32.68	R\$ 32.68
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	_	10-Feb		31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259		R\$ 8,285.41
	Buy	10-Feb		32.00	
Non-Voting Shares	Buy				R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	727		R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb			R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96

Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb		32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	-	10-Feb	835	32.64	R\$ 27,254.40
Non-Voting Shares	Buy		335	32.65	
<u> </u>	Buy	10-Feb		32.66	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	45 7		R\$ 1,469.70
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	2	32.69	R\$ 65.38
Non-Voting Shares	Buy	10-Feb	128	32.00	R\$ 4,096.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	116	32.03	R\$ 3,715.48
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92

Non-Voting Shares	Buy	10-Feb		32.66	R\$ 620.54
Non-Voting Shares	Buy	10-Feb	6	32.67	R\$ 196.02
Non-Voting Shares	Buy	10-Feb	130	32.00	R\$ 4,160.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	65	32.09	R\$ 2,085.85
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb		32.52	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Tion voing onaics	ьuy	10-1 60	ı	<u>اک.ا+</u>	ι φ υ <b>∠</b> .υ <del>4</del>

Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	389	32.62	R\$ 12,689.18
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	61	32.64	R\$ 1,991.04
Non-Voting Shares	Buy	10-Feb	250	32.65	R\$ 8,162.50
Non-Voting Shares	Buy	10-Feb	20	32.66	R\$ 653.20
Non-Voting Shares	Buy	10-Feb	6	32.67	R\$ 196.02
Non-Voting Shares	Buy	10-Feb	128	32.00	R\$ 4,096.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	37	32.04	R\$ 1,185.48
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134		R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	-	10-Feb	48	32.27	R\$ 1,548.96
•	Buy	10-Feb	10	32.28	· · ·
Non-Voting Shares	Buy			32.29	R\$ 322.80 R\$ 129.16
Non-Voting Shares	Buy	10-Feb	4		R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	47 70	32.30 32.33	
Non-Voting Shares	Buy	10-Feb	78		R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03

Non-Voting Shares	Buy	10-Feb	47		R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	60	32.64	R\$ 1,958.40
Non-Voting Shares	Buy	10-Feb			R\$ 8,227.80
Non-Voting Shares	Buy	10-Feb	17	32.66	R\$ 555.22
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	128	32.00	R\$ 4,096.00
	•	10-Feb	438	32.00	R\$ 14,020.38
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	3	32.26	R\$ 96.78
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	•	10-Feb	9	32.28	R\$ 290.52
•	Buy			32.28	
Non-Voting Shares	Buy	10-Feb	4		R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10

Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	•	10-Feb	255	32.60	R\$ 8,313.00
	Buy			32.61	
Non-Voting Shares	Buy	10-Feb	279		R\$ 9,098.19
Non-Voting Shares	Buy	10-Feb	392		R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	64	32.64	R\$ 2,088.96
Non-Voting Shares	Buy	10-Feb	242	32.65	R\$ 7,901.30
Non-Voting Shares	Buy	10-Feb	19	32.66	R\$ 620.54
Non-Voting Shares	Buy	10-Feb	7	32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	711	32.02	R\$ 22,766.22
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb			R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	65	32.09	R\$ 2,085.85
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb			R\$ 2,190.96
<u> </u>	•				

Non-Voting Shares	Buy	10-Feb	15	32.23	R\$ 483.45
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	390	32.62	R\$ 12,721.80
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 65.28
Non-Voting Shares	Buy	10-Feb	125	32.65	R\$ 4,081.25
Non-Voting Shares	Buy	10-Feb	13	32.66	R\$ 424.58
Non-Voting Shares	Buy	10-Feb	711	32.02	R\$ 22,766.22
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
•	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	•			32.07	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	23	32.09	
Non-Voting Shares	Buy	10-Feb	66		R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44

Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31		R\$ 1,000.50
_	•	10-Feb	101	32.58	
Non-Voting Shares	Buy			32.59	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.60	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257		R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	357		R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	125	32.65	R\$ 4,081.25
Non-Voting Shares	Buy	10-Feb	14	32.66	R\$ 457.24
Non-Voting Shares	Buy	10-Feb	711	32.02	R\$ 22,766.22
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94

Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb			R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	-	10-Feb	51	32.56	R\$ 1,660.56
<u> </u>	Buy	10-Feb	31	32.57	
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 1,009.67
Non-Voting Shares	Buy		101		R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28
Non-Voting Shares	Buy	10-Feb	357	32.63	R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb	125	32.65	R\$ 4,081.25
Non-Voting Shares	Buy	10-Feb	13	32.66	R\$ 424.58
Non-Voting Shares	Buy	10-Feb	465	32.02	R\$ 14,889.30
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52

Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb	22	32.35	R\$ 711.70
	Buy	10-Feb		32.36	
Non-Voting Shares	Buy		26	32.37	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.38	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5 155		R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	85	32.63	R\$ 2,773.55

Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	103	32.65	R\$ 3,362.95
Non-Voting Shares	Buy	10-Feb	3	32.66	R\$ 97.98
Non-Voting Shares	Buy	10-Feb	202	32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	•	10-Feb	97	32.24	R\$ 3,127.28
	Buy	10-Feb	23	32.25	
Non-Voting Shares	Buy				R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	109		R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24

Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	201	32.62	R\$ 6,556.62
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	58	32.65	R\$ 1,893.70
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	67	32.09	R\$ 2,150.03
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb		32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	-	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy Buy	10-Feb	155	32.39	R\$ 5,020.45
<u> </u>	•		109	32.40	• •
Non-Voting Shares	Buy	10-Feb			R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52

	_				
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	181	32.61	R\$ 5,902.41
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	11	32.65	R\$ 359.15
Non-Voting Shares	Buy	10-Feb	202	32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	•	10-Feb	47	32.30	R\$ 1,518.10
•	Buy	10-Feb	78	32.33	
Non-Voting Shares	Buy				R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34 32.35	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22		R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15

Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb	202	32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	50	32.65	R\$ 1,632.50
Non-Voting Shares	Buy	10-Feb	1	32.66	R\$ 32.66
Non-Voting Shares	Buy	10-Feb	1	32.02	R\$ 32.02
Non-Voting Shares	Buy	10-Feb	1	32.08	R\$ 32.08
Non-Voting Shares	Buy	10-Feb	21	32.09	R\$ 673.89
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	•	10-Feb	4	32.29	R\$ 129.16
•	Buy	10-Feb	47	32.30	•
Non-Voting Shares	Buy				R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6 150	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59

Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	186	32.60	R\$ 6,063.60
Non-Voting Shares	Buy	10-Feb	54	32.03	R\$ 1,729.62
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	24	32.08	R\$ 769.92
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	-	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy Buy	10-Feb	80	32.40	R\$ 2,592.80
•	•		46	32.42	
Non-Voting Shares Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
_	Buy	10-Feb			R\$ 454.02
Non-Voting Shares	Buy	10-Feb	2/	32.45	R\$ 876.15

Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	180	32.61	R\$ 5,869.80
Non-Voting Shares	Buy	10-Feb	9	32.62	R\$ 293.58
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	11	32.65	R\$ 359.15
Non-Voting Shares	Buy	10-Feb	202	32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
•	•			32.35	
Non-Voting Shares	Buy	10-Feb	22 26		R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb		32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67

Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	13	32.47	R\$ 422.11
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares		10-Feb	31	32.57	R\$ 1,009.67
	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	59	32.65	R\$ 1,926.35
Non-Voting Shares	Buy	10-Feb	710	32.02	R\$ 22,734.20
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	97	32.24	R\$ 3,127.28
<u> </u>	Buy		24	32.25	
Non-Voting Shares Non-Voting Shares	Buy	10-Feb 10-Feb	2 <del>4</del> 4	32.25	R\$ 774.00 R\$ 129.04
<u> </u>	Buy				
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74

	_				
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
•	•				
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	357	32.63	R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb	2	32.64	R\$ 65.28
Non-Voting Shares	Buy	10-Feb	124	32.65	R\$ 4,048.60
Non-Voting Shares	Buy	10-Feb	14	32.66	R\$ 457.24
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,150.03
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60		R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30		R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	-	10-Feb		32.21	
<u> </u>	Buy				R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69 17	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30

	_				
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	•	10-Feb	45	32.42	R\$ 1,458.90
•	Buy				
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	182	32.61	R\$ 5,935.02
Non-Voting Shares	Buy	10-Feb	11	32.62	R\$ 358.82
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	10	32.65	R\$ 326.50
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 18,827.76
Non-Voting Shares	•	10-Feb		32.02	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.03	
S .	Buy				R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
	*				

Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares		10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
•	Buy	10-Feb	32	32.57	
Non-Voting Shares	Buy				R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58 32.59	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,280.40
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 7,178.60
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	115	32.65	R\$ 3,754.75
Non-Voting Shares	Buy	10-Feb	9	32.66	R\$ 293.94
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15

Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb		32.29	R\$ 129.16
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	47	32.30	R\$ 1,518.10
•	Buy	10-Feb	78	32.33	
Non-Voting Shares	Buy				R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	200	32.62	R\$ 6,524.00
Non-Voting Shares	Buy	10-Feb	6	32.63	R\$ 195.78
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	57	32.65	R\$ 1,861.05
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
	20,		_5	550	φ / σ / .σ /

Non-Voting Shares	Buy	10-Feb	67	32.09	R\$ 2,150.03
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	•		9	32.28	R\$ 290.52
9	Buy	10-Feb		32.29	
Non-Voting Shares	Buy	10-Feb	5		R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47 77	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257		R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	180	32.61	R\$ 5,869.80
Non-Voting Shares	Buy	10-Feb	9	32.62	R\$ 293.58
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	11	32.65	R\$ 359.15
Non-Voting Shares	Buy	10-Feb	515	32.02	R\$ 16,490.30
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
14011 Volling Offares	Duy	10-1 60	114	JZ.UJ	1 (ψ 0,001.42

Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	58	32.14	R\$ 1,864.12
Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	•	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
	Buy	10-Feb		32.40	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy				R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66

Non-Voting Shares	Buy	10-Feb	137		R\$ 4,470.31
Non-Voting Shares	Buy	10-Feb	3	32.64	R\$ 97.92
Non-Voting Shares	Buy	10-Feb	112	32.65	R\$ 3,656.80
Non-Voting Shares	Buy	10-Feb	6	32.66	R\$ 195.96
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	76	32.18	R\$ 2,445.68
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	•	10-Feb	26	32.48	R\$ 844.48
•	Buy			32.50	
Non-Voting Shares	Buy	10-Feb	25	32.52	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb 10-Feb	26 53		R\$ 845.78
Non-Voting Shares	Buy		52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	143	32.60	R\$ 4,661.80
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	56	32.13	R\$ 1,799.28
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26

Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
	•	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
<u> </u>	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares Non-Voting Shares	•	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.09	R\$ 1,573.39
<u> </u>	Buy	10-Feb		32.11	
Non-Voting Shares	Buy				R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76

Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
<u> </u>	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares			1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	
Non-Voting Shares	Buy	10-Feb 10-Feb		32.57	R\$ 1,660.56
Non-Voting Shares	Buy		100	32.58	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb			R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	50	32.65	R\$ 1,632.50
Non-Voting Shares	Buy	10-Feb	1	32.66	R\$ 32.66
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 772.32
Non-Voting Shares	Buy	10-Feb	14	32.19	R\$ 450.66
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 3,026.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96

Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	-	10-Feb	71	32.58	R\$ 2,313.18
•	Buy	10-Feb	202	32.02	
Non-Voting Shares	Buy			32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	39	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb			R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91

Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	13	32.47	R\$ 422.11
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	202		R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	59	32.65	R\$ 1,926.35
Non-Voting Shares	Buy	10-Feb	201	32.02	R\$ 6,436.02
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.12	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.13	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.14	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares		10-Feb		32.10	R\$ 257.36
TYOH- VOLING SHALES	Buy	IO-LED	0	JZ. I /	1 φ 237.30

Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	-	10-Feb	26	32.53	R\$ 845.78
<u> </u>	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares Non-Voting Shares	Buy		51	32.56	
Non-Voting Shares	Buy	10-Feb 10-Feb		32.57	R\$ 1,660.56
<u> </u>	Buy				R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb	202	32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	51	32.65	R\$ 1,665.15
Non-Voting Shares	Buy	10-Feb	589	32.02	R\$ 18,859.78
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24

Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4		R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	•	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
•	Buy	10-Feb	107	32.40	
Non-Voting Shares	Buy		83	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb			R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	390	32.62	R\$ 12,721.80
Non-Voting Shares	Buy	10-Feb	222	32.63	R\$ 7,243.86
Non-Voting Shares	Buy	10-Feb	2	32.64	R\$ 65.28
Non-Voting Shares	Buy	10-Feb	116	32.65	R\$ 3,787.40
Non-Voting Shares	Buy	10-Feb	8	32.66	R\$ 261.28
Non-Voting Shares	Buy	10-Feb	465	32.02	R\$ 14,889.30
Non-Voting Shares	Buy	10-Feb	112	32.03	R\$ 3,587.36
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90

Non-Voting Shares Buy 10-Feb 23 32.06 R\$ 1,025,92 R\$ 64.14 Non-Voting Shares Buy 10-Feb 23 32.07 R\$ 64.14 Non-Voting Shares Buy 10-Feb 23 32.08 R\$ 737,84 Non-Voting Shares Buy 10-Feb 49 32.11 R\$ 1,573.39 Non-Voting Shares Buy 10-Feb 28 32.12 R\$ 8,993.66 Non-Voting Shares Buy 10-Feb 28 32.12 R\$ 8,993.66 Non-Voting Shares Buy 10-Feb 60 32.14 R\$ 1,928.40 Non-Voting Shares Buy 10-Feb 60 32.17 R\$ 257.36 Non-Voting Shares Buy 10-Feb 61 32.21 R\$ 2,284.78 Non-Voting Shares Buy 10-Feb 63 32.17 R\$ 2,284.78 Non-Voting Shares Buy 10-Feb 63 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 69 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 69 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 69 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 69 32.22 R\$ 1,190.96 Non-Voting Shares Buy 10-Feb 69 32.23 R\$ 1,564.96 Non-Voting Shares Buy 10-Feb 69 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 60 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 60 32.36 R\$ 1,564.96 Non-Voting Shares Buy 10-Feb 61 32.37 R\$ 1,564.9						
Non-Voting Shares Buy 10-Feb 49 32.11 RS 1,573.39 Non-Voting Shares Buy 10-Feb 49 32.11 RS 1,573.39 Non-Voting Shares Buy 10-Feb 52 32.12 RS 893.36 Non-Voting Shares Buy 10-Feb 52 32.13 RS 1,670.76 Non-Voting Shares Buy 10-Feb 60 32.14 RS 1,928.40 Non-Voting Shares Buy 10-Feb 60 32.15 RS 225.00 Non-Voting Shares Buy 10-Feb 60 32.16 RS 932.64 Non-Voting Shares Buy 10-Feb 60 32.16 RS 932.64 Non-Voting Shares Buy 10-Feb 60 32.17 RS 225.05 Non-Voting Shares Buy 10-Feb 60 32.17 RS 225.00 Non-Voting Shares Buy 10-Feb 60 32.17 RS 225.00 Non-Voting Shares Buy 10-Feb 61 32.17 RS 257.38 Non-Voting Shares Buy 10-Feb 63 32.17 RS 257.36 Non-Voting Shares Buy 10-Feb 63 32.21 RS 3,059.95 Non-Voting Shares Buy 10-Feb 63 32.21 RS 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.21 RS 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.21 RS 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,809.95 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,809.95 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,809.95 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,806.07 Non-Voting Shares Buy 10-Feb 63 32.23 RS 1,516.68 Non-Voting Shares Buy 10-Feb 63 32.24 RS 1,815.68 Non-Voting Shares Buy 10-Feb 63 32.25 RS 1,151.00 Non-Voting Shares Buy 10-Feb 63 32.26 RS 161.30 Non-Voting Shares Buy 10-Feb 63 32.27 RS 1,549.96 Non-Voting Shares Buy 10-Feb 63 32.28 RS 1,806.07 Non-Voting Shares Buy 10-Feb 63 32.29 RS 1,291.07 Non-Voting Shares Buy 10-Feb 63 63 63 RS 4,128.00 RS 1,540.00 RS 1,5	Non-Voting Shares	Buy	10-Feb			R\$ 1,025.92
Non-Voting Shares   Non-Voting Shares   Buy   10-Feb   49   32.11   R\$ 1,573.39		•				
Non-Voting Shares Buy 10-Feb 28 32.12 R\$ 899.36 Non-Voting Shares Buy 10-Feb 52 32.13 R\$ 1,670.76 Non-Voting Shares Buy 10-Feb 60 32.14 R\$ 1,928.40 Non-Voting Shares Buy 10-Feb 73 32.15 R\$ 225.05 Non-Voting Shares Buy 10-Feb 73 32.15 R\$ 225.05 Non-Voting Shares Buy 10-Feb 73 32.17 R\$ 225.36 Non-Voting Shares Buy 10-Feb 73 32.17 R\$ 257.36 Non-Voting Shares Buy 10-Feb 73 32.17 R\$ 257.36 Non-Voting Shares Buy 10-Feb 73 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 133 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 2,282.78 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 2,282.78 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 3,209.95 Non-Voting Shares Buy 10-Feb 163 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 163 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 163 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 164 32.23 R\$ 515.68 Non-Voting Shares Buy 10-Feb 23 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 29.52 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 R\$ 4,82.60 R\$	Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares   Buy   10-Feb   52   32.12   R\$ 899.36	Non-Voting Shares	Buy		66		R\$ 2,117.94
Non-Voting Shares   Buy   10-Feb   52   32.13   R\$ 1,670.76	Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares   Buy   10-Feb   60   32.14   R\$ 1,928.40	Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares   Buy   10-Feb   29   32.16   R\$ 932.64	Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares   Buy   10-Feb   29   32.16   R\$ 932.64	Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares Buy 10-Feb 53 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 53 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 53 32.11 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,29.36 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 53 32.34 R\$ 1,29.36 Non-Voting Shares Buy 10-Feb 53 32.35 R\$ 841.62 Non-Voting Shares Buy 10-Feb 53 32.36 R\$ 841.62 Non-Voting Shares Buy 10-Feb 53 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 53 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 53 53.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 53 53.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 53 53.39 R\$ 5,002.45 Non-Voting Shares Buy 10-Feb 53 53.39 R\$ 5,002.45 Non-Voting Shares Buy 10-Feb 53 53.39 R\$ 421.53 Non-Voting Shares Buy 10-Feb 53 53.46 R\$ 421.59 Non-Voting Shares Buy 10-Feb 53 53.25 R\$ 843.70 Non-Voting Shares Buy	Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares   Buy   10-Feb   53   32.19   R\$ 1,706.07	Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 16 32.23 R\$ 51.68 Non-Voting Shares Buy 10-Feb 10-F	Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares   Buy   10-Feb   133   32.20   R\$ 4,282.60   Non-Voting Shares   Buy   10-Feb   95   32.21   R\$ 3,059.95   Non-Voting Shares   Buy   10-Feb   16   32.23   R\$ 5,150.96   Non-Voting Shares   Buy   10-Feb   16   32.23   R\$ 5,150.68   Non-Voting Shares   Buy   10-Feb   97   32.24   R\$ 3,127.28   Non-Voting Shares   Buy   10-Feb   97   32.25   R\$ 741.75   Non-Voting Shares   Buy   10-Feb   5   32.26   R\$ 161.30   Non-Voting Shares   Buy   10-Feb   5   32.26   R\$ 161.30   Non-Voting Shares   Buy   10-Feb   48   32.27   R\$ 1,548.96   Non-Voting Shares   Buy   10-Feb   48   32.27   R\$ 1,548.96   Non-Voting Shares   Buy   10-Feb   48   32.29   R\$ 129.16   Non-Voting Shares   Buy   10-Feb   48   32.30   R\$ 1,550.40   Non-Voting Shares   Buy   10-Feb   48   32.31   R\$ 2,521.74   Non-Voting Shares   Buy   10-Feb   48   32.31   R\$ 2,521.74   Non-Voting Shares   Buy   10-Feb   48   32.31   R\$ 2,521.74   Non-Voting Shares   Buy   10-Feb   22   32.35   R\$ 711.70   Non-Voting Shares   Buy   10-Feb   26   32.37   R\$ 841.62   Non-Voting Shares   Buy   10-Feb   26   32.37   R\$ 841.62   Non-Voting Shares   Buy   10-Feb   5   32.38   R\$ 161.90   Non-Voting Shares   Buy   10-Feb   58   32.38   R\$ 161.90   Non-Voting Shares   Buy   10-Feb   33   32.41   R\$ 2,690.03   Non-Voting Shares   Buy   10-Feb   33   32.41   R\$ 2,690.03   Non-Voting Shares   Buy   10-Feb   33   32.41   R\$ 2,690.03   Non-Voting Shares   Buy   10-Feb   35   32.98   R\$ 5,020.45   Non-Voting Shares   Buy   10-Feb   36   32.45   R\$ 843.70   Non-Voting Shares   Buy   10-Feb   37   32.46   R\$ 1,201.00   Non-Voting Shares   Buy   10-Feb   37   32.46   R\$ 1,201.00   Non-Voting Shares   Buy   10-Feb   32   32.57   R\$ 1,042.24   Non-Voting Shares   Buy   10-Feb   32   32.57   R\$ 1,042.24   Non-Voting Shares   Buy   10-Feb   32   32.57   R\$ 1,042.24   Non-Voting Shares		Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares         Buy         10-Feb         68         32.21         R\$ 3,059.95           Non-Voting Shares         Buy         10-Feb         68         32.22         R\$ 2,190.96           Non-Voting Shares         Buy         10-Feb         16         32.23         R\$ 515.68           Non-Voting Shares         Buy         10-Feb         97         32.24         R\$ 3,127.28           Non-Voting Shares         Buy         10-Feb         23         32.25         R\$ 741.75           Non-Voting Shares         Buy         10-Feb         43         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         48         32.29         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 1,251.60           Non-Voting Shares         Buy         10-Feb         43         32.34         R\$ 129.36 <td></td> <td>•</td> <td>10-Feb</td> <td>133</td> <td>32.20</td> <td></td>		•	10-Feb	133	32.20	
Non-Voting Shares         Buy         10-Feb         68         32.22         R\$ 2,190.96           Non-Voting Shares         Buy         10-Feb         16         32.23         R\$ 515.68           Non-Voting Shares         Buy         10-Feb         97         32.24         R\$ 3,127.28           Non-Voting Shares         Buy         10-Feb         23         32.25         R\$ 741.75           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1548.96           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1548.96           Non-Voting Shares         Buy         10-Feb         43         32.29         R\$ 129.50           Non-Voting Shares         Buy         10-Feb         43         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         43         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         43         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 71.70 <tr< td=""><td></td><td>•</td><td></td><td></td><td></td><td></td></tr<>		•				
Non-Voting Shares         Buy         10-Feb         96         32.23         R\$ 515.68           Non-Voting Shares         Buy         10-Feb         97         32.24         R\$ 3,127.28           Non-Voting Shares         Buy         10-Feb         23         32.25         R\$ 741.75           Non-Voting Shares         Buy         10-Feb         5         32.26         R\$ 161.30           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         9         32.28         R\$ 290.52           Non-Voting Shares         Buy         10-Feb         4         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 1,550.40           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         48         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         42         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36	<u> </u>					
Non-Voting Shares         Buy         10-Feb         97         32.24         R\$ 3,127.28           Non-Voting Shares         Buy         10-Feb         23         32.25         R\$ 741.75           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         48         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 1,550.40           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         42         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.36	•					
Non-Voting Shares   Buy   10-Feb   23   32.25   R\$ 741.75		•				
Non-Voting Shares         Buy         10-Feb         5         32.26         R\$ 161.30           Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         9         32.28         R\$ 290.52           Non-Voting Shares         Buy         10-Feb         4         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 1,550.40           Non-Voting Shares         Buy         10-Feb         78         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         4         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         155         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45		•				
Non-Voting Shares         Buy         10-Feb         48         32.27         R\$ 1,548.96           Non-Voting Shares         Buy         10-Feb         9         32.28         R\$ 290.52           Non-Voting Shares         Buy         10-Feb         4         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 1,550.40           Non-Voting Shares         Buy         10-Feb         78         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         15         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 2,690.03		•				
Non-Voting Shares         Buy         10-Feb         9         32.28         R\$ 290.52           Non-Voting Shares         Buy         10-Feb         4         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         157         32.39         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.40         R\$ 2,690.03	•	•				· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares         Buy         10-Feb         4         32.29         R\$ 129.16           Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 1,550.40           Non-Voting Shares         Buy         10-Feb         78         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74      <	<u> </u>					
Non-Voting Shares         Buy         10-Feb         48         32.30         R\$ 1,550.40           Non-Voting Shares         Buy         10-Feb         78         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,52.79						
Non-Voting Shares         Buy         10-Feb         78         32.33         R\$ 2,521.74           Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         17         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,520.04           Non-Voting Shares         Buy         10-Feb         43         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         13         32.42         R\$ 1,520.00		•				
Non-Voting Shares         Buy         10-Feb         4         32.34         R\$ 129.36           Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         43         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         43         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         32         32.45         R\$ 842.59		•				
Non-Voting Shares         Buy         10-Feb         22         32.35         R\$ 711.70           Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         187         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         32         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         32         32.45         R\$ 843.70	•	•				
Non-Voting Shares         Buy         10-Feb         26         32.36         R\$ 841.36           Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         83         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         26         32.47         R\$ 487.05	<u> </u>	-				
Non-Voting Shares         Buy         10-Feb         26         32.37         R\$ 841.62           Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         83         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 81.20.0		•				
Non-Voting Shares         Buy         10-Feb         5         32.38         R\$ 161.90           Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         83         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54 <tr< td=""><td></td><td>•</td><td></td><td></td><td></td><td></td></tr<>		•				
Non-Voting Shares         Buy         10-Feb         155         32.39         R\$ 5,020.45           Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         83         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         32         32.54         R\$ 1,660.56		•				
Non-Voting Shares         Buy         10-Feb         107         32.40         R\$ 3,466.80           Non-Voting Shares         Buy         10-Feb         83         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 3.254           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,660.56 <tr< td=""><td>•</td><td>•</td><td></td><td></td><td></td><td></td></tr<>	•	•				
Non-Voting Shares         Buy         10-Feb         83         32.41         R\$ 2,690.03           Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         10         32.58         R\$ 3,258.00		•				
Non-Voting Shares         Buy         10-Feb         47         32.42         R\$ 1,523.74           Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03 <tr< td=""><td></td><td>•</td><td></td><td></td><td></td><td></td></tr<>		•				
Non-Voting Shares         Buy         10-Feb         13         32.43         R\$ 421.59           Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60 <t< td=""><td><u> </u></td><td></td><td></td><td></td><td></td><td></td></t<>	<u> </u>					
Non-Voting Shares         Buy         10-Feb         26         32.45         R\$ 843.70           Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 9,098.19						
Non-Voting Shares         Buy         10-Feb         37         32.46         R\$ 1,201.02           Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         10         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90	•	•				
Non-Voting Shares         Buy         10-Feb         15         32.47         R\$ 487.05           Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         395         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90 <td>•</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	•	-				
Non-Voting Shares         Buy         10-Feb         25         32.48         R\$ 812.00           Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.62         R\$ 12,884.90     <		•				
Non-Voting Shares         Buy         10-Feb         26         32.50         R\$ 845.00           Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29		•				
Non-Voting Shares         Buy         10-Feb         26         32.53         R\$ 845.78           Non-Voting Shares         Buy         10-Feb         1         32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51         32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32         32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29	•	-				
Non-Voting Shares         Buy         10-Feb         1 32.54         R\$ 32.54           Non-Voting Shares         Buy         10-Feb         51 32.56         R\$ 1,660.56           Non-Voting Shares         Buy         10-Feb         32 32.57         R\$ 1,042.24           Non-Voting Shares         Buy         10-Feb         100 32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117 32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256 32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279 32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395 32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83 32.63         R\$ 2,708.29	•	-				· · · · · · · · · · · · · · · · · · ·
Non-Voting SharesBuy10-Feb5132.56R\$ 1,660.56Non-Voting SharesBuy10-Feb3232.57R\$ 1,042.24Non-Voting SharesBuy10-Feb10032.58R\$ 3,258.00Non-Voting SharesBuy10-Feb11732.59R\$ 3,813.03Non-Voting SharesBuy10-Feb25632.60R\$ 8,345.60Non-Voting SharesBuy10-Feb27932.61R\$ 9,098.19Non-Voting SharesBuy10-Feb39532.62R\$ 12,884.90Non-Voting SharesBuy10-Feb8332.63R\$ 2,708.29	•	•				
Non-Voting SharesBuy10-Feb3232.57R\$ 1,042.24Non-Voting SharesBuy10-Feb10032.58R\$ 3,258.00Non-Voting SharesBuy10-Feb11732.59R\$ 3,813.03Non-Voting SharesBuy10-Feb25632.60R\$ 8,345.60Non-Voting SharesBuy10-Feb27932.61R\$ 9,098.19Non-Voting SharesBuy10-Feb39532.62R\$ 12,884.90Non-Voting SharesBuy10-Feb8332.63R\$ 2,708.29	•	•				
Non-Voting Shares         Buy         10-Feb         100         32.58         R\$ 3,258.00           Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29		•				
Non-Voting Shares         Buy         10-Feb         117         32.59         R\$ 3,813.03           Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29	•	•				
Non-Voting Shares         Buy         10-Feb         256         32.60         R\$ 8,345.60           Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29	•	Buy				
Non-Voting Shares         Buy         10-Feb         279         32.61         R\$ 9,098.19           Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29	•	•				
Non-Voting Shares         Buy         10-Feb         395         32.62         R\$ 12,884.90           Non-Voting Shares         Buy         10-Feb         83         32.63         R\$ 2,708.29		Buy				
Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	Non-Voting Shares	Buy	10-Feb	279	32.61	R\$ 9,098.19
·	Non-Voting Shares	Buy	10-Feb	395	32.62	R\$ 12,884.90
Non-Voting Shares Buy 10-Feb 1 32.64 R\$ 32.64	Non-Voting Shares	Buy	10-Feb	83	32.63	R\$ 2,708.29
	Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64

Non-Voting Shares	Buy	10-Feb	100	32.65	R\$ 3,265.00
Non-Voting Shares	Buy	10-Feb	3	32.66	R\$ 97.98
Non-Voting Shares	Buy	10-Feb	466	32.02	R\$ 14,921.32
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb		32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	84		R\$ 2,722.44
Non-Voting Shares	•	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 454.02
	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy		37		
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	_	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00

Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	279	32.61	R\$ 9,098.19
Non-Voting Shares	Buy	10-Feb	395	32.62	R\$ 12,884.90
Non-Voting Shares	Buy	10-Feb	84	32.63	R\$ 2,740.92
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	100	32.65	R\$ 3,265.00
Non-Voting Shares	Buy	10-Feb	4	32.66	R\$ 130.64
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	•	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	
•	Buy	10-Feb		32.35	R\$ 129.36
Non-Voting Shares Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 711.70 R\$ 873.72
•	Buy				
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6 154	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44

Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	•	10-Feb	30	32.16	R\$ 964.80
	Buy		7		
Non-Voting Shares	Buy	10-Feb		32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
•	•	10-Feb	80	32.41	
Non-Voting Shares	Buy				R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60

Non-Voting Shares	Buy	10-Feb	120	32.61	R\$ 3,913.20
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	710	32.02	R\$ 22,734.20
Non-Voting Shares	Buy	10-Feb	116	32.03	R\$ 3,715.48
Non-Voting Shares	Buy	10-Feb	37	32.04	R\$ 1,185.48
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb			R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	93	32.21	R\$ 2,995.53
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	96	32.24	R\$ 3,095.04
•	Buy	10-Feb	24	32.25	
Non-Voting Shares	Buy			32.26	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4		R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
•	•				

Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,739.48
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	358	32.63	R\$ 11,681.54
Non-Voting Shares	Buy	10-Feb	133	32.65	R\$ 4,342.45
Non-Voting Shares	Buy	10-Feb	12	32.66	R\$ 391.92
Non-Voting Shares	Buy	10-Feb	56	32.03	R\$ 1,793.68
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	62	32.14	R\$ 1,992.68
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb		32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb		32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb		32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
TYON YOUNG ONAIGS	ьиу	10-1 60	23	U∠. <del>+</del> U	ι φ σ ι Ζ.υυ

	_				
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	184	32.61	R\$ 6,000.24
Non-Voting Shares	Buy	10-Feb	6	32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	12	32.65	R\$ 391.80
Non-Voting Shares	Buy	10-Feb	1	32.03	R\$ 32.03
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares		10-Feb	54	32.12	R\$ 1,735.02
•	Buy			32.13	
Non-Voting Shares	Buy	10-Feb	59		R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	131	32.20	R\$ 4,218.20
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb		32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
voling onaroo	Day	10 1 00	•	JL.UL	1 (φ 02.02

Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	28	32.03	R\$ 896.84
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,992.68
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77		R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	•	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy Buy	10-Feb	109	32.40	R\$ 3,531.60
•	•		80	32.41	
Non-Voting Shares	Buy	10-Feb			R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14 27	32.43 32.45	R\$ 454.02
Non-Voting Shares	Buy	10-Feb			R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25

Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	157	32.61	R\$ 5,119.77
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	4	32.65	R\$ 130.60
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	63	32.14	R\$ 2,024.82
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
		10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy		7		
Non-Voting Shares	Buy	10-Feb		32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48		R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 454.58
TAOLI VOLLING OLIGIES	ьиу	10-1 60	14	JZ.+/	ι φ 404.00

Non Voting Charge					
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	183	32.61	R\$ 5,967.63
Non-Voting Shares	Buy	10-Feb	12	32.62	R\$ 391.44
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	•	10-Feb	9	32.65	R\$ 293.85
<u> </u>	Buy	10-Feb	2	32.03	
Non-Voting Shares	Buy				R\$ 64.04
Non-Voting Shares	Buy	10-Feb	54	32.03	R\$ 1,729.62
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb		32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	-	10-Feb	5	32.29	R\$ 161.45
<u> </u>	Buy				
Non-Voting Shares	Buy	10-Feb	47 77	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80

Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	187	32.61	R\$ 6,098.07
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	10	32.65	R\$ 326.50
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	63	32.14	R\$ 2,024.82
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
.ton tomig ondies	Бау	10 1 00	20	557	1 φ 0 + 1.02

Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	183	32.61	R\$ 5,967.63
Non-Voting Shares	Buy	10-Feb	12	32.62	R\$ 391.44
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	9	32.65	R\$ 293.85
Non-Voting Shares	Buy	10-Feb	464	32.02	R\$ 14,857.28
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	134		R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	-	10-Feb	24		R\$ 774.00
_	Buy				
Non-Voting Shares	Buy	10-Feb 10-Feb	5 48	32.26 32.27	R\$ 161.30
Non-Voting Shares	Buy				R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	4/	32.30	R\$ 1,518.10

Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	40	32.46	R\$ 1,298.40
Non-Voting Shares	Buy	10-Feb	13	32.47	R\$ 422.11
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	•	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
•	Buy	10-Feb	81	32.63	
Non-Voting Shares	Buy	10-Feb	2	32.64	R\$ 2,643.03
Non-Voting Shares	Buy				R\$ 65.28
Non-Voting Shares	Buy	10-Feb	111	32.65	R\$ 3,624.15
Non-Voting Shares	Buy	10-Feb	4	32.66	R\$ 130.64
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96

					_
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	•	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
•	Buy	10-Feb	5	32.61	
Non-Voting Shares	Buy				R\$ 163.05
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	48	32.11	R\$ 1,541.28
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96

	_		_		
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	•	10-Feb	15	32.47	R\$ 487.05
•	Buy		25	32.48	
Non-Voting Shares	Buy	10-Feb			R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	185	32.61	R\$ 6,032.85
Non-Voting Shares	Buy	10-Feb	11	32.62	R\$ 358.82
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	7	32.65	R\$ 228.55
Non-Voting Shares	Buy	10-Feb	204	32.02	R\$ 6,532.08
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,223.18
	26,				

Non-Voting Shares	Buy	10-Feb	15	32.23	R\$ 483.45
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	202	32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	57	32.65	R\$ 1,861.05
Non-Voting Shares	Buy	10-Feb	56	32.03	R\$ 1,793.68
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	58	32.14	R\$ 1,864.12
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71	32.17	R\$ 2,284.78
Tion voing onales	Buy	10 1 60	<i>i</i> 1	52.10	ι φ 2,207.70

Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 6,130.68
Non-Voting Shares	Buy	10-Feb	15	32.62	R\$ 489.30
Non-Voting Shares	•	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	2	32.65	R\$ 65.30
Non-Voting Shares	Buy Buy	10-Feb	56	32.14	R\$ 1,799.84
<u> </u>	•			32.14	
Non-Voting Shares	Buy	10-Feb			R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7 75	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75 50	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04

					_
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	•	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
_	Buy	10-Feb	100	32.58	
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,258.00 R\$ 3,813.03
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	1	32.13	R\$ 32.13
Non-Voting Shares	Buy	10-Feb	1	32.16	R\$ 32.16
Non-Voting Shares	Buy	10-Feb	2	32.17	R\$ 64.34
Non-Voting Shares	Buy	10-Feb	29	32.18	R\$ 933.22
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 804.75
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90

Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
<del>-</del>	•	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	13	32.59	R\$ 423.67
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares		10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy			32.26	R\$ 129.04
<u> </u>	Buy	10-Feb	4		•
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59

Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	5	32.61	R\$ 163.05
Non-Voting Shares	Buy	10-Feb	1	32.13	R\$ 32.13
Non-Voting Shares	Buy	10-Feb	56	32.14	R\$ 1,799.84
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	-	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
<u> </u>	Buy Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares			27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb		32.37	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	10-Feb 10-Feb	26	32.38	R\$ 841.62
Non-Voting Shares	Buy		5 155	32.39	R\$ 161.90 R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	155		
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb		32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67

	_				
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,117.62
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,402.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	48	32.42	R\$ 1,556.16
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	-	10-Feb	35	32.46	R\$ 1,136.10
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
<u> </u>	Buy	10-Feb	25	32.48	
Non-Voting Shares	Buy	10-Feb			R\$ 812.00
Non-Voting Shares	Buy		26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60

## Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	10-Feb	7	32.61	R\$ 228.27
Non-Voting Shares	Buy	10-Feb	1	32.16	R\$ 32.16
Non-Voting Shares	Buy	10-Feb	2	32.17	R\$ 64.34
Non-Voting Shares	Buy	10-Feb	25	32.18	R\$ 804.50
Non-Voting Shares	Buy	10-Feb	25	32.19	R\$ 804.75
Non-Voting Shares	Buy	10-Feb	136	32.20	R\$ 4,379.20
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	12		R\$ 391.08
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	-	10-Feb	27	32.11	R\$ 867.24
Non-Voting Shares	Buy			32.12	
	Buy	10-Feb			R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	4 20	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31

	_				
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	49	32.30	R\$ 1,582.70
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	158	32.39	R\$ 5,117.62
Non-Voting Shares	Buy	10-Feb	104	32.40	R\$ 3,369.60
<u> </u>	•	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy		47		
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	4	32.61	R\$ 130.44
Non-Voting Shares	Buy	10-Feb	1	32.62	R\$ 32.62
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.17	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	49	32.10	R\$ 1,577.31
Non-Voting Shares	•	10-Feb		32.19	
_	Buy				R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	98	32.21	R\$ 3,156.58

Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares		10-Feb	47	32.42	R\$ 1,523.74
•	Buy				• •
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	6	32.61	R\$ 195.66
Non-Voting Shares	Buy	10-Feb	56	32.14	R\$ 1,799.84
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb		32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb		32.30	R\$ 1,550.40
Ton Toning Ondioo	Day	10 1 00	.0	32.00	1 (φ 1,000.40

	_				D# 0 -01 -1
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
			52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb			
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 873.72
. ton voining charoo	Day	10 1 00	_,	32.00	. ιψ 07 0.7 Δ

Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	5	32.61	R\$ 163.05
Non-Voting Shares	Buy	10-Feb	56	32.14	R\$ 1,799.84
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	76	32.18	R\$ 2,445.68
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
•	•				
Non-Voting Shares	Buy	10-Feb	47 13	32.42 32.43	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb			R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05

Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	33	32.11	R\$ 1,059.63
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	-	10-Feb	131	32.19	
•	Buy	10-Feb		32.21	R\$ 4,218.20
Non-Voting Shares	Buy		96 67		R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
<u> </u>	•	10-Feb	100	32.58	
Non-Voting Shares	Buy				R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03

Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	1	32.04	R\$ 32.04
Non-Voting Shares	Buy	10-Feb	31	32.11	R\$ 995.41
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
•	Buy		25	32.37	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	10-Feb			R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	34	32.04	R\$ 1,089.36
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
	-				

Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	•	10-Feb	96	32.24	R\$ 3,095.04
	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
<u> </u>	•		-		
Non-Voting Shares	Buy	10-Feb	4	32.63 32.11	R\$ 130.52
Non-Voting Shares	Buy	10-Feb	33		R\$ 1,059.63
Non-Voting Shares	Buy	10-Feb	27 54	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40

Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	131	32.20	R\$ 4,218.20
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares	•	10-Feb		32.56	R\$ 1,693.12
Non-Voting Shares	Buy Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 4,694.40
Non-Voting Shares	•	10-Feb	144	32.02	
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 32.02
<u> </u>	Buy		27	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb 10-Feb			R\$ 867.24
Non-Voting Shares	Buy		54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	_	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	131	32.20	R\$ 4,218.20
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16

Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
=		10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,089.36
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	94	32.21	R\$ 3,027.74
•	Buy	10-Feb		32.22	
Non-Voting Shares	Buy		69		R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	١8	32.23	R\$ 580.14

## Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	119	32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 130.52
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.17	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy Buy	10-Feb	135	32.19	R\$ 4,347.00
	_	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-FED	90	JZ.Z1	ng 3,058.85

Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	•	10-Feb		32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	
<u> </u>	Buy				R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27 55	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55 50	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00

Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	<u>-</u>	10-Feb	154	32.39	R\$ 4,988.06
•	Buy	10-Feb	107	32.40	
Non-Voting Shares	Buy				R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	119	32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	6	32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	56	32.13	R\$ 1,799.28
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-voling shares	Биу	i o-i-en	24	JZ.ZJ	ηφ / /4.00

					_
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
	•	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy		37	32.04	
Non-Voting Shares	Buy	10-Feb			R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96

					_
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	119	32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	6	32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.17	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
•	•	10-Feb		32.20	R\$ 4,347.00
Non-Voting Shares Non-Voting Shares	Buy Buy	10-Feb	135 96	32.21	R\$ 3,092.16
•	•		96 67	32.22	
Non-Voting Shares	Buy	10-Feb	17	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb			R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04

Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	116	32.61	R\$ 3,782.76
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	4	32.63	R\$ 130.52
Non-Voting Shares	Buy	10-Feb	1	32.01	R\$ 32.01
Non-Voting Shares	Buy	10-Feb	34	32.04	R\$ 1,089.36
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
G	Buy	10-Feb	49	32.11	
Non-Voting Shares Non-Voting Shares	•	10-Feb		32.11	R\$ 1,573.39
<u> </u>	Buy		26 54	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb			R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28

Non-Voting Shares	Buy	10-Feb	23		R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	38	32.46	R\$ 1,233.48
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	118	32.61	R\$ 3,847.98
Non-Voting Shares	-	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	4	32.63	R\$ 130.52
_	Buy	10-Feb		32.03	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy				R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96

Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	120	32.61	R\$ 3,913.20
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.11	R\$ 867.24
Non-Voting Shares	•	10-Feb	55	32.12	R\$ 1,767.15
•	Buy	10-Feb	59	32.13	
Non-Voting Shares	Buy				R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	10	32.17	R\$ 321.70
Non-Voting Shares	Buy	10-Feb	71 51	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00

Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
	•	10-Feb	37	32.46	
Non-Voting Shares	Buy				R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	116	32.61	R\$ 3,782.76
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	4	32.63	R\$ 130.52
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	56	32.13	R\$ 1,799.28
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Taon voing onales	ьиу	10-1 60	20	JZ.ZJ	1 (φ / 4 1./ 5

	_				
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	•	10-Feb	80	32.41	R\$ 2,592.80
•	Buy	10-Feb		32.42	
Non-Voting Shares	Buy		46		R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 1,029.12
Non-Voting Shares	•	10-Feb		32.17	R\$ 225.19
	Buy	10-Feb	76	32.17	R\$ 2,445.68
Non-Voting Shares Non-Voting Shares	Buy			32.10	
S .	Buy	10-Feb	48		R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
	*				

Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	143	32.60	R\$ 4,661.80
Non-Voting Shares	Buy	10-Feb	15	32.12	R\$ 481.80
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	•	10-Feb	49	32.30	R\$ 1,582.70
Non-Voting Shares	Buy Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb		32.35	R\$ 711.70
•	Buy	10-Feb	27	32.36	
Non-Voting Shares	Buy				R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6 155	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15

	_				
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	100	32.60	R\$ 3,260.00
Non-Voting Shares	Buy	10-Feb	1	32.02	R\$ 32.02
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares		10-Feb	6	32.14	R\$ 192.90
•	Buy			32.16	
Non-Voting Shares	Buy	10-Feb	31		R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72 50	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb		32.56	R\$ 1,693.12
	<i>J</i>				

	_				
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	143	32.60	R\$ 4,661.80
Non-Voting Shares	Buy	10-Feb	1	32.03	R\$ 32.03
Non-Voting Shares	Buy	10-Feb	31	32.11	R\$ 995.41
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb		32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy Buy	10-Feb	144	32.60	R\$ 4,694.40
_	•				
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92

	_				
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	5	32.17	R\$ 160.85
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154		R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb		32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Вuy	10-Feb		32.61	R\$ 3,913.20
Non-Voting Shares	•	10-Feb	7	32.62	
•	Buy	10-Feb		32.62	R\$ 228.34
Non-Voting Shares	Buy			32.03	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	3∠	JZ.11	R\$ 1,027.52

Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Вuy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	•	10-Feb	117	32.59	R\$ 3,813.03
<u> </u>	Buy	10-Feb	144		
Non-Voting Shares	Buy <b>Total</b>	10-1-60	308,820	32.00	R\$ 4,694.40 <b>R\$ 9,992,389.12</b>
Non-Voting Shares		10 Fab	•	21.05	
Non-Voting Shares	Sell	10-Feb	900	31.95	R\$ 28,755.00
Non-Voting Shares	Sell	10-Feb	200	31.96	R\$ 6,392.00
Non-Voting Shares	Sell	10-Feb	500	31.97	R\$ 15,985.00
Non-Voting Shares	Sell	10-Feb	200	31.99	R\$ 6,398.00
Non-Voting Shares	Sell	10-Feb	500	32.00	R\$ 16,000.00
Non-Voting Shares	Sell	10-Feb	400	32.01	R\$ 12,804.00
Non-Voting Shares	Sell	10-Feb	200	32.02	R\$ 6,404.00
Non-Voting Shares	Sell	10-Feb	135	32.03	R\$ 4,324.05

Non-Voting Shares	Sell	10-Feb		32.05	R\$ 3,205.00
Non-Voting Shares	Sell	10-Feb	100	32.06	R\$ 3,206.00
Non-Voting Shares	Sell	10-Feb	200	32.12	R\$ 6,424.00
Non-Voting Shares	Sell	10-Feb	500	32.13	R\$ 16,065.00
Non-Voting Shares	Sell	10-Feb	100	32.14	R\$ 3,214.00
Non-Voting Shares	Sell	10-Feb	100	32.16	R\$ 3,216.00
Non-Voting Shares	Sell	10-Feb	200	32.17	R\$ 6,434.00
Non-Voting Shares	Sell	10-Feb	200	32.18	R\$ 6,436.00
Non-Voting Shares	Sell	10-Feb	500	32.19	R\$ 16,095.00
Non-Voting Shares	Sell	10-Feb	200	32.20	R\$ 6,440.00
Non-Voting Shares	Sell	10-Feb	200	32.21	R\$ 6,442.00
Non-Voting Shares	Sell	10-Feb	400	32.22	R\$ 12,888.00
Non-Voting Shares	Sell	10-Feb	100	32.24	R\$ 3,224.00
Non-Voting Shares	Sell	10-Feb	200	32.26	R\$ 6,452.00
<u> </u>				32.29	
Non-Voting Shares	Sell	10-Feb	100		R\$ 3,229.00
Non-Voting Shares	Sell	10-Feb	100	32.30	R\$ 3,230.00
Non-Voting Shares	Sell	10-Feb	100	32.34	R\$ 3,234.00
Non-Voting Shares	Sell	10-Feb	100	32.35	R\$ 3,235.00
Non-Voting Shares	Sell	10-Feb	100	32.37	R\$ 3,237.00
Non-Voting Shares	Sell	10-Feb	400	32.38	R\$ 12,952.00
Non-Voting Shares	Sell	10-Feb	600	32.39	R\$ 19,434.00
Non-Voting Shares	Sell	10-Feb	200	32.40	R\$ 6,480.00
Non-Voting Shares	Sell	10-Feb	200	32.41	R\$ 6,482.00
Non-Voting Shares	Sell	10-Feb	100	32.42	R\$ 3,242.00
Non-Voting Shares	Sell	10-Feb	100	32.44	R\$ 3,244.00
Non-Voting Shares	Sell	10-Feb	100	32.45	R\$ 3,245.00
Non-Voting Shares	Sell	10-Feb	500	32.46	R\$ 16,230.00
Non-Voting Shares	Sell	10-Feb	100	32.49	R\$ 3,249.00
Non-Voting Shares	Sell	10-Feb	100	32.53	R\$ 3,253.00
Non-Voting Shares	Sell	10-Feb	200	32.56	R\$ 6,512.00
Non-Voting Shares	Sell	10-Feb	100	32.57	R\$ 3,257.00
Non-Voting Shares	Sell	10-Feb	400	32.58	R\$ 13,032.00
Non-Voting Shares	Sell	10-Feb	300	32.59	R\$ 9,777.00
Non-Voting Shares	Sell	10-Feb		32.61	R\$ 13,044.00
Non-Voting Shares	Sell	10-Feb		32.62	R\$ 29,358.00
Non-Voting Shares	Sell	10-Feb	100	32.63	R\$ 3,263.00
Non-Voting Shares	Sell	10-Feb	400	32.64	R\$ 13,056.00
Non-Voting Shares	Sell	10-Feb	300	32.65	R\$ 9,795.00
Non-Voting Shares	Sell	13-Feb	15,000	32.47	R\$ 487,050.00
Non-Voting Shares	Sell	7-Feb	•	31.15	R\$ 31,150.00
Non-Voting Shares	Sell	7-Feb	1,000	31.20	R\$ 31,200.00
Non-Voting Shares	Sell	7-Feb	35	31.22	R\$ 1,092.70
Non-Voting Shares	Sell	7-Feb	2,000		R\$ 62,600.00
<u> </u>			•	31.30	· ·
Non-Voting Shares	Sell	7-Feb	3,100	31.32	R\$ 97,092.00
Non-Voting Shares	Sell	7-Feb		31.35	R\$ 62,700.00
Non-Voting Shares	Sell	7-Feb	3,000	31.40	R\$ 94,200.00
Non-Voting Shares	Sell	10-Feb	66	32.02	R\$ 2,113.32
Non-Voting Shares	Sell	10-Feb	1,100	32.05	R\$ 35,255.00
Non-Voting Shares	Sell	10-Feb	9,600	32.08	R\$ 307,968.00
Non-Voting Shares	Sell	10-Feb	400	32.09	R\$ 12,836.00
Non-Voting Shares	Sell	15-Feb	5,000	32.90	R\$ 164,500.00

Non-Voting Shares	Sell	9-Feb	9	32.11	R\$ 288.99
Non-Voting Shares	Sell	9-Feb	6,700	32.14	R\$ 215,338.00
Non-Voting Shares	Sell	9-Feb	3,000	32.15	R\$ 96,450.00
Non-Voting Shares	Sell	7-Feb	10	31.26	R\$ 312.60
Non-Voting Shares	Sell	7-Feb	6,000	31.28	R\$ 187,680.00
Non-Voting Shares	Sell	7-Feb	3,700	31.30	R\$ 115,810.00
Non-Voting Shares	Sell	16-Feb	2,000	33.36	R\$ 66,720.00
Non-Voting Shares	Sell	8-Feb	6,592	31.40	R\$ 206,988.80
Non-Voting Shares	Sell	9-Feb	5,830	32.00	R\$ 186,560.00
Non-Voting Shares	Sell	7-Feb	1,700	31.10	R\$ 52,870.00
Non-Voting Shares	Sell	7-Feb	800	31.12	R\$ 24,896.00
Non-Voting Shares	Sell	7-Feb	2,500	31.17	R\$ 77,925.00
Non-Voting Shares	Sell	15-Feb	3,998	33.00	R\$ 131,934.00
Non-Voting Shares	Sell	10-Feb	4,718	32.00	R\$ 150,976.00
Non-Voting Shares	Sell	21-Feb	49	33.52	R\$ 1,642.48
Non-Voting Shares	Sell	21-Feb	2,548	33.55	R\$ 85,485.40
Non-Voting Shares	Sell	21-Feb	1,400	33.56	R\$ 46,984.00
Non-Voting Shares	Sell	22-Feb	10,499	34.30	R\$ 360,115.70
Non-Voting Shares	Sell	7-Feb	2,123	31.42	R\$ 66,704.66
Non-Voting Shares	Sell	7-Feb	3,342	31.43	R\$ 105,039.06
Non-Voting Shares	Sell	21-Feb	5,191	34.00	R\$ 176,494.00
Non-Voting Shares	Sell	21-Feb	10	33.76	R\$ 337.60
Non-Voting Shares	Sell	21-Feb	3,200	33.78	R\$ 108,096.00
Non-Voting Shares	Sell	7-Feb	4,746	31.50	R\$ 149,499.00
Non-Voting Shares	Sell	7-Feb	500	31.51	R\$ 15,755.00
Non-Voting Shares	Sell	7-Feb	38	31.40	R\$ 1,193.20
Non-Voting Shares	Sell	7-Feb	2,700	31.42	R\$ 84,834.00
Non-Voting Shares	Sell	7-Feb	30	31.22	R\$ 936.60
Non-Voting Shares	Sell	7-Feb	600	31.25	R\$ 18,750.00
Non-Voting Shares	Sell	20-Feb	2,000	33.09	R\$ 66,180.00
Non-Voting Shares	Sell	20-Feb	1,200	33.10	R\$ 39,720.00
Non-Voting Shares	Sell	7-Feb	2,700	31.27	R\$ 84,429.00
Non-Voting Shares	Sell	3-Feb		31.80	R\$ 795.00
Non-Voting Shares	Sell	3-Feb		31.83	R\$ 19,098.00
Non-Voting Shares	Sell	16-Feb	3,211	33.00	R\$ 105,963.00
Non-Voting Shares	Sell	10-Feb	3,000	32.59	R\$ 97,770.00
Non-Voting Shares	Sell	17-Feb	700	33.00	R\$ 23,100.00
Non-Voting Shares	Sell	20-Feb	2,097	33.00	R\$ 69,201.00
Non-Voting Shares	Sell	7-Feb	100	31.12	R\$ 3,112.00
	Sell	7-Feb	100	31.12	
Non-Voting Shares	Sell	7-Feb 7-Feb	100	31.13	R\$ 3,115.00
Non-Voting Shares					R\$ 3,118.00
Non-Voting Shares	Sell	7-Feb	1,000	31.20	R\$ 31,200.00
Non-Voting Shares	Sell	7-Feb	100	31.21	R\$ 3,121.00
Non-Voting Shares	Sell	7-Feb	100	31.23	R\$ 3,123.00
Non-Voting Shares	Sell	7-Feb	100	31.24	R\$ 3,124.00
Non-Voting Shares	Sell	7-Feb	500	31.25	R\$ 15,625.00
Non-Voting Shares	Sell	7-Feb	100	31.26	R\$ 3,126.00
Non-Voting Shares	Sell	7-Feb	200	31.27	R\$ 6,254.00
Non-Voting Shares	Sell	7-Feb	300	31.28	R\$ 9,384.00
Non-Voting Shares	Sell	7-Feb	200	31.29	R\$ 6,258.00
Non-Voting Shares	Sell	7-Feb	187	31.30	R\$ 5,853.10

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Sell	13-Feb	3,200	32.59	R\$ 104,288.00			
Non-Voting Shares	Sell	13-Feb	10	32.68	R\$ 326.80			
Non-Voting Shares	Sell	15-Feb	2,400	32.65	R\$ 78,360.00			
Non-Voting Shares	Sell	20-Feb	80	32.86	R\$ 2,628.80			
Non-Voting Shares	Sell	20-Feb	500	32.97	R\$ 16,485.00			
Non-Voting Shares	Sell	7-Feb	30	31.39	R\$ 941.70			
Non-Voting Shares	Sell	7-Feb	600	31.42	R\$ 18,852.00			
Non-Voting Shares	Sell	7-Feb	3,100	31.27	R\$ 96,937.00			
Non-Voting Shares	Total		168,509		R\$ 5,439,734.56			
Closing Balance								

% of participation

Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	79,834	0.0028 0.0014
Non-Voting Shares	3,209,891	0.1155 0.0577

Note:

New member who belong to the Board of Executive

Officers:

Leandro José Diniz

Note:

**Members who left the Board of Executive Officers:** 

Altair Antonio de Souza Alexandre Rappaport

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.						
Group and Family Dependants	( )Board of Directors	() Board of Executive Officers	(X) Audit Committee	() Technic Advisory Aç		
	Openning E	Balance				
				% of partici	pation	
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total	
Common Sha	res		2,398	0.0000	0.0000	
Non-Voting Shares			190,906	0.0068	0.0034	
	Closing Ba	alance				
				% of partici	pation	
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total	
Common Sha	res		2,398	0.0000	0.0000	
Non-Voting Sha	ares		190,906	0.0068	0.0034	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.				
Group and Family Dependants ( )Board of Directors	FYACIIIVA	() Audit Committee	(x) Technical and Ad Agencies	lvisory
0	penning Balanc	е		
			% of participatio	n
Type of Securities/Derivative	es	Quantity	Same type of Shares	Total
Common Shares	1,694	0.0000	0.0000	
Non-Voting Shares		4,373		0.0000
	<b>Closing Balance</b>			
			% of participatio	n
Type of Securities/Derivative	es	Quantity	Same type of Shares	Total
Common Shares		1,694	0.0000	0.0000
Non-Voting Shares		4,373		0.0000

Note:

New members who belong to the Technical and Advisory Agencies

Wilson Antonio Salmeron Gutierrez

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: S.A. CPF/CNPJ: 60.746.948/0001-12

Qualification: Treasury

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity

Same type of Shares

Total

Common Shares 4,575,045

0.1647

0.0823

Non-Voting Shares 17,141,588 0.6173 0.3086

**Closing Balance** 

% of participation

Type of Securities/Derivatives Quantity

Same type of Shares

Total

 Common Shares
 4,575,045
 0.1647
 0.0823

 Non-Voting Shares
 17,141,588
 0.6173
 0.3086

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

2bCapital

Name: Participações Ltda CPF/CNPJ: 11.814.208/0001-60

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
_		Closing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: 2bCapital S.A CPF/CNPJ: 07.063.675/0001-29

Qualification: Controlled / Related Company

**Openning Balance** 

	' '		
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Closing Balance		
	% of participation		
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Quantity 0	Closing Balance % of participation  Quantity Same type of Shares	O 0.0000 Closing Balance % of participation Quantity Same type of Shares  0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ADC Bradesco - Associação

Name: Desportiva Classista CPF/CNPJ: 51.244.101/0001-49

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing E	Balance		
	_	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora Corretora de Títulos e

Name: Valores Mobiliários S.A CPF/CNPJ: 74.014.747/0001-35

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0	_	0.0000	0.0000		
Closing Balance						
		% of participa	tion			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Ágora Educacional

Name: Ltda CPF/CNPJ: 09.544.124/0001-02

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Qua	antity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aicaré Holdings

Name: Ltda CPF/CNPJ: 09.235.141/0001-68

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
Ç	Closing Balance		
	% of participat	ion	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Administradora de

Name: Cartões Ltda CPF/CNPJ: 01.382.421/0001-97

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
· ·	Closing	Balance		
	_	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Companhia Securitizadora

Name: de Créditos Financeiros CPF/CNPJ: 03.572.412/0001-94

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0	0.000 0.000	
Non-voling Shares	Closing Bala	ance	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Serviços e

Name: Negócios Ltda CPF/CNPJ: 50.991.421/0001-08

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Clo	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Amapari Holdings

Name: S.A CPF/CNPJ: 15.012.678/0001-61

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quant	tity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
<b>G</b>		Closing Balance		
		% of participation		
Type of Securities/Derivatives Quant	tity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Andorra Holdings

Name: S.A CPF/CNPJ: 08.503.501/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuan	tity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation		
Type of Securities/DerivativesQuan	tity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aporé Holdings

Name: S.A CPF/CNPJ: 15.011.651/0001-54

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQu	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participati	on	
Type of Securities/DerivativesQu	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Aquarius Holdings** 

Name: Ltda CPF/CNPJ: 04.866.440/0001-87

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0	0.	.0000	0.0000
Non-Voting Shares	0	0.	.0000	0.0000
•		Closing Balance		
		% of participation		
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0	0.	.0000	0.0000
Non-Voting Shares	0	0.	.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aranaú Holdings

Name: S.A CPF/CNPJ: 15.011.846/0001-02

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuant	tity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
<u>-</u>		Closing Balance		
		% of participation	l	
Type of Securities/DerivativesQuant	ity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ARFAB - Associação Recreativa dos

Name: Funcionários da Atlântica-Bradesco CPF/CNPJ: 42.413.153/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 <b>Closing Balance</b>	0.0000 0.0000	0.0000 0.0000
	3	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Atlântica Companhia de

Name: Seguros CPF/CNPJ: 33.151.291/0001-78

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baíra Holdings

Name: Ltda CPF/CNPJ: 10.429.085/0001-81

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
<b>G</b>	Closing Balance		
	% of participation	on	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Alvorada

Name: S.A CPF/CNPJ: 33.870.163/0001-84

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
ŭ	Closing Balance		
	% of participation	on	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Boavista

Name: Interatlântico S.A CPF/CNPJ: 33.485.541/0001-06

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	8,694	(	0.0003	0.0001
Non-Voting Shares	8,343	(	0.0003	0.0001
•		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	8,694	(	0.0003	0.0001
Non-Voting Shares	8,343	(	0.0003	0.0001

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradescard

Name: S.A CPF/CNPJ: 04.184.779/0001-01

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
·	Closing Balance		
	% of participation	1	
Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco BBI

Name: S.A CPF/CNPJ: 06.271.464/0001-19

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: BERJ S.A CPF/CNPJ: 33.147.315/0001-15

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Cartões S.A CPF/CNPJ: 59.438.325/0001-01

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0	Closing Balance	0.0000	0.0000
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Financiamentos S.A CPF/CNPJ: 07.207.996/0001-50

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closin	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco CBSS

Name: S.A CPF/CNPJ: 27.098.060/0001-45

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	า	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baneb Corretora de

Name: Seguros S.A CPF/CNPJ: 14.560.304/0001-18

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	C	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar Brasil

Name: Ltda CPF/CNPJ: 34.046.581/0001-14

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
· ·	Closing Balance		
	% of participati	on	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bankpar Consultoria e

Name: Serviços Ltda CPF/CNPJ: 67.529.289/0001-01

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closir	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Barinas Holdings** 

Name: S.A CPF/CNPJ: 15.011.336/0001-27

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
•	Closing Balance		
	% of participat	ion	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BCN - Consultoria, Administração de

Name: Bens, Serviços e Publicidade Ltda CPF/CNPJ: 52.842.408/0001-04

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 <b>Closing Balance</b>	0.0000 0.0000	0.0000 0.0000
	<b>3</b>	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000 0.0000	0.0000
Non-Voting Shares	U	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEC - Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 07.299.480/0001-82

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing Bal</b>		0.0000 0.0000	0.0000 0.0000
	J	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEM - Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 00.066.670/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing Bal</b>	0	0.0000	0.0000 0.0000
	· ·	% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	(	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

BF Promotora de

Name: Vendas Ltda CPF/CNPJ: 02.038.394/0001-00

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0		0000 0.0000 0000 0.0000
Non-voling onales	O	Closing Balance % of participation	0.0000
Type of Cooughting/Derivetives	Quantity	78 Of Participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	0.000 0.0000
Non-Voting Shares	0	0.	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BMC Asset Management - Distribuidora

Name: de Títulos e Valores Mobiliários Ltda CPF/CNPJ: 04.163.016/0001-76

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
_	<b>Closing Balance</b>		
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Previdência

Name: Privada S.A CPF/CNPJ: 07.622.099/0001-02

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0		0.0000	0.0000 0.0000
Closing Balance % of participation				
		76 OI Participati	OII	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BP Promotora de

Name: Vendas Ltda CPF/CNPJ: 07.131.760/0001-87

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bpar Corretagem de

Name: Seguros Ltda CPF/CNPJ: 43.133.503/0001-48

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity		Total			
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
Closing Balance						
	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BPS Participações e

Name: Serviços Ltda CPF/CNPJ: 02.858.535/0001-23

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity		Total			
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		
Closing Balance						
	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescard Elo

Name: Participações S.A CPF/CNPJ: 09.226.818/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Total	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	С	losing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Administradora de

Name: Consórcios Ltda CPF/CNPJ: 52.568.821/0001-22

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		
Closing Balance						
	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bradesco Auto/RE

Name: Companhia de Seguros CPF/CNPJ: 92.682.038/0001-00

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 Closing	ı Ralance	0.0000 0.0000	0.0000 0.0000	
	Closing Balance % of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco

Name: Capitalização S.A CPF/CNPJ: 33.010.851/0001-74

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Non-voling onales	O	Closing Balance		0.0000
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bradesco Leasing S.A. -

Name: Arrendamento Mercantil CPF/CNPJ: 47.509.120/0001-82

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares	e type of Shares			
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		
Closing Balance						
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Name: Bradesco S.A. Corretora de Títulos e Valores Mobiliários CPF/CNPJ: 61.855.045/0001-32

Qualification: Controlled / Related Company

### **Openning Balance**

						' '
Type of Securities/Derivatives				Quant	ity	Same type of Shares Total
	Common Share Non-Voting Sha	res			1,317 7,274	0.0000 0.0000 0.0002 0.0001
		Mont	th Move	ment		
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$
Common Shares		Buy	2-Feb	392	31.22	R\$ 12,238.24
Common Shares		Buy	3-Feb	2,008	31.97	R\$ 64,195.76
Common Shares		Buy	6-Feb	58	31.32	R\$ 1,816.56
Common Shares		Buy	8-Feb	50	31.57	R\$ 1,578.50
Common Shares		Buy	9-Feb	1,204	31.49	R\$ 37,913.96
Common Shares		Buy	15-Feb	700	31.90	R\$ 22,330.00
Common Shares		Buy	16-Feb	181	31.84	R\$ 5,763.04
Common Shares		Buy	21-Feb	548	32.97	R\$ 18,067.56
Common Shares		Buy	22-Feb	1,428	33.65	R\$ 48,052.20
Common Shares		Buy	24-Feb	107	32.63	R\$ 3,491.41
Common Shares		Total		6,676		R\$ 215,447.23

Non-Voting Shares	Buy	1-Feb	2,258	32.43	R\$ 73,226.94
Non-Voting Shares	Buy	2-Feb	1,854	31.20	R\$ 57,844.80
Non-Voting Shares	Buy	3-Feb	7,120	31.96	R\$ 227,555.20
Non-Voting Shares	Buy	6-Feb	15	31.30	R\$ 469.50
Non-Voting Shares	Buy	9-Feb	4,967	32.02	R\$ 159,043.34
Non-Voting Shares	Buy	15-Feb	2,121	33.09	R\$ 70,183.89
Non-Voting Shares Non-Voting	Buy	20-Feb	980	33.04	R\$ 32,379.20
Shares Non-Voting	Buy	22-Feb	3,551	34.19	R\$ 121,408.69
Shares Non-Voting	Buy	24-Feb	328	33.42	R\$ 10,961.76
Shares	Total		23,194		R\$ 753,073.32
Common			236	32.03	
Shares	Sell	1-Feb	200	02.00	R\$ 7,559.08
Common Shares	Sell	7-Feb	1,650	31.48	R\$ 51,942.00
Common Shares Common	Sell	10-Feb	200	31.60	R\$ 6,320.00
Shares Common	Sell	13-Feb		31.55	R\$ 23,599.40
Shares Common	Sell	14-Feb		31.30	R\$ 13,834.60
Shares	Sell	17-Feb	500	31.88	R\$ 15,940.00
Common Shares	Sell	20-Feb	171	32.00	R\$ 5,472.00
Common Shares	Sell	23-Feb	1,448	33.07	R\$ 47,885.36
Common Shares	Total		5,395		R\$ 172,552.44
Non-Voting Shares	Sell	7-Feb	6,827	31.25	R\$ 213,343.75
Non-Voting Shares	Sell	8-Feb	624	31.83	R\$ 19,861.92
Non-Voting Shares	Sell	10-Feb	1,071	32.50	R\$ 34,807.50
Non-Voting Shares	Sell	13-Feb	4,789	32.59	R\$ 156,073.51
Non-Voting Shares	Sell	14-Feb	1,955	32.39	R\$ 63,322.45
Non-Voting Shares	Sell	16-Feb	1	32.98	R\$ 32.98
	Sell	17-Feb	314	32.91	R\$ 10,333.74

### Edgar Filing: BANK BRADESCO - Form 6-K

	9	.9			-	
Non-Voting Shares Non-Voting Shares	Sell	21-Feb	662	33.97	D¢ 22	2,488.14
	Seli	21-1-60			Πφ 22	.,400.14
Non-Voting Shares	Sell	23-Feb	4,358	33.67	R\$ 146	5,733.86
Non-Voting Shares	Tota	ļ	20,601		R\$ 666	5,997.85
		Closing Bala	nce			
		· ·			% of participation	า
	Type of Securities/Derivative	es	Quanti	ty	Same type of Shares	Total
	Common Shares Non-Voting Shares			2,598 9,867	0.0000 0.0003	0.0000 0.0001

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Saúde

Name: S.A CPF/CNPJ: 92.693.118/0001-60

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQu	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
G		Closing Balance		
		% of participat	ion	
Type of Securities/DerivativesQu	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bradesco SegPrev

Name: Investimentos Ltda CPF/CNPJ: 07.394.162/0001-09

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closi</b> i	ng Balance	0.0000 0.0000	0.0000 0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Seguros

Name: S.A CPF/CNPJ: 33.055.146/0001-93

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantit	У	Same type of Shares		Total
Common Shares 0	)	0.0	0000	0.0000
Non-Voting Shares 0	)	0.0	0000	0.0000
·		Closing Balance		
		% of participation		
Type of Securities/Derivatives Quantit	У	Same type of Shares		Total
Common Shares 0	)	0.0	0000	0.0000
Non-Voting Shares 0	)	0.0	0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Vida e

Name: Previdência S.A CPF/CNPJ: 51.990.695/0001-37

Qualification: Controlled / Related Company

**Openning Balance** 

Same type of Shares	Total
Common Shares 0 0.0000	0.0000
Non-Voting Shares 0 0.0000	0.0000
Closing Balance	
% of participation	
Type of Securities/Derivatives Quantity Same type of Shares	Total
Common Shares 0 0.0000	0.0000
Non-Voting Shares 0 0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bradescor Corretora de

Name: Seguros Ltda CPF/CNPJ: 43.338.235/0001-09

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Non-voling onares		g Balance		0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesplan

Name: Participações Ltda CPF/CNPJ: 61.782.769/0001-01

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
		Closing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg

Name: Participações S.A CPF/CNPJ: 02.863.655/0001-19

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg Promotora de

Name: Vendas S.A CPF/CNPJ: 10.428.992/0001-06

Qualification: Controlled / Related Company

**Openning Balance** 

otal
0.0000
0.0000
otal
0.0000 0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Bram - Bradesco Asset

Name: Management S.A. DTVM CPF/CNPJ: 62.375.134/0001-44

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing B	salance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bréscia Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 08.427.630/0001-59

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Ü	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**BSP Affinity** 

Name: Ltda CPF/CNPJ: 08.977.053/0001-79

Qualification: Controlled / Related Company

**Openning Balance** 

Type of	O	·		
Securities/Derivatives	Quantity Same type of Shares			Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimento

Name: Imobiliário D166 Ltda CPF/CNPJ: 10.430.696/0001-40

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> e	g Balance	0.0000 0.0000	0.0000 0.0000
	0.00	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimento

Name: Imobiliário D167 Ltda CPF/CNPJ: 10.430.769/0001-01

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> o	ı Balance	0.0000 0.0000	0.0000 0.0000
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D102 Ltda CPF/CNPJ: 14.310.249/0001-08

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D103 Ltda CPF/CNPJ: 20.505.637/0001-47

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D104 Ltda CPF/CNPJ: 20.505.627/0001-01

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D105 Ltda CPF/CNPJ: 20.505.621/0001-34

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Dalanas	0.0000 0.0000	0.0000 0.0000
	Closing			
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D106 Ltda CPF/CNPJ: 20.505.658/0001-62

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
World Voting Chares	Closing	Balance	0.0000	0.0000
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D107 Ltda CPF/CNPJ: 20.505.963/0001-54

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D108 Ltda CPF/CNPJ: 20.505.933/0001-48

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing</b>	Balance	0.0000 0.0000	0.0000 0.0000
	2.229	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D109 Ltda CPF/CNPJ: 20.505.923/0001-02

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	J	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D110 Ltda CPF/CNPJ: 20.505.912/0001-22

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D111 Ltda CPF/CNPJ: 20.505.903/0001-31

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D112 Ltda CPF/CNPJ: 20.505.887/0001-87

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D113 Ltda CPF/CNPJ: 20.505.868/0001-50

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D114 Ltda CPF/CNPJ: 20.505.952/0001-74

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D115 Ltda CPF/CNPJ: 20.505.943/0001-83

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D116 Ltda CPF/CNPJ: 20.529.645/0001-23

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
Non-voling Shares	Closing I	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D117 Ltda CPF/CNPJ: 20.529.636/0001-32

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000 0.0000
Non-voling onales	Closing I	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D118 Ltda CPF/CNPJ: 20.529.620/0001-20

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D119 Ltda CPF/CNPJ: 20.529.605/0001-81

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D120 Ltda CPF/CNPJ: 20.529.600/0001-59

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000		
Closing Balance % of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D121 Ltda CPF/CNPJ: 20.529.584/0001-02

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D122 Ltda CPF/CNPJ: 20.594.000/0001-74

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D123 Ltda CPF/CNPJ: 20.594.010/0001-00

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D124 Ltda CPF/CNPJ: 20.593.987/0001-02

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D125 Ltda CPF/CNPJ: 20.593.972/0001-44

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D126 Ltda CPF/CNPJ: 20.593.963/0001-53

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D127 Ltda CPF/CNPJ: 20.593.953/0001-18

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000
rton voung charos	Closing			0.0000
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D128 Ltda CPF/CNPJ: 20.593.922/0001-67

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D129 Ltda CPF/CNPJ: 20.618.121/0001-09

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D130 Ltda CPF/CNPJ: 20.608.183/0001-30

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D131 Ltda CPF/CNPJ: 20.608.008/0001-42

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
_	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D132 Ltda CPF/CNPJ: 20.607.980/0001-00

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing l	Palanas	0.0000 0.0000	0.0000 0.0000
	Closing I			
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D133 Ltda CPF/CNPJ: 20.609.154/0001-92

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D134 Ltda CPF/CNPJ: 20.608.465/0001-37

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000
Non Voling Chares	Closing l			0.0000
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D135 Ltda CPF/CNPJ: 20.607.961/0001-76

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Non Voting Onares	Closing	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D136 Ltda CPF/CNPJ: 20.608.191/0001-86

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0		0.0000	0.0000		
Closing Balance						
		% of participa	ation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D137 Ltda. CPF/CNPJ: 20.609.143/0001-02

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Ralanca	0.0000 0.0000	0.0000 0.0000
	Closing Balance % of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D138 Ltda CPF/CNPJ: 20.608.425/0001-95

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0		0.0000	0.0000		
Closing Balance						
		% of participa	ation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D139 Ltda CPF/CNPJ: 20.608.415/0001-50

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D140 Ltda CPF/CNPJ: 20.608.473/0001-83

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D141 Ltda CPF/CNPJ: 20.608.448/0001-08

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000		
Closing Balance % of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D142 Ltda CPF/CNPJ: 20.608.441/0001-88

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
Non-voling Shares	Closing I	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D143 Ltda CPF/CNPJ: 20.608.173/0001-02

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000			
	Closing Balance						
	% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D144 Ltda CPF/CNPJ: 20.618.128/0001-20

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion voing chares	Closing	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D145 Ltda CPF/CNPJ: 20.618.042/0001-06

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000			
	Closing Balance						
	% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D146 Ltda CPF/CNPJ: 20.617.804/0001-41

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000			
	Closing Balance						
	% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D147 Ltda CPF/CNPJ: 20.617.909/0001-09

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			
	Closing Balance						
	% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares	0		0.0000	0.0000			
Non-Voting Shares	0		0.0000	0.0000			

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D148 Ltda CPF/CNPJ: 20.617.818/0001-65

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D149 Ltda CPF/CNPJ: 20.617.832/0001-69

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D150 Ltda CPF/CNPJ: 20.617.842/0001-02

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
Non-voling Shares	Closing I	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D151 Ltda CPF/CNPJ: 20.618.063/0001-13

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D153 Ltda CPF/CNPJ: 20.617.854/0001-29

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D154 Ltda CPF/CNPJ: 20.617.864/0001-64

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
· ·	Closing I	<b>Balance</b>		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D155 Ltda CPF/CNPJ: 20.618.053/0001-88

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Tion Tolling Offaroo	O		0.0000	3.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D156 Ltda CPF/CNPJ: 20.618.034/0001-51

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
_	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D157 Ltda CPF/CNPJ: 20.617.879/0001-22

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing I</b>	Ralance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D158 Ltda CPF/CNPJ: 20.617.891/0001-37

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	3	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D159 Ltda CPF/CNPJ: 20.617.898/0001-59

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D160 Ltda CPF/CNPJ: 20.617.741/0001-23

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000	
Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D162 Ltda CPF/CNPJ: 20.617.780/0001-20

Qualification: Controlled / Related Company

# **Openning Balance**

Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
J		ition	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	0 0 <b>Closing</b> Quantity	O Closing Balance  % of participa  Quantity  Same type of Shares	O 0.0000 O 0.0000 Closing Balance  % of participation  Quantity Same type of Shares  0 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D164 Ltda CPF/CNPJ: 20.618.084/0001-39

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
Non-voling Shares	Closing I	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários D165 Ltda CPF/CNPJ: 20.618.089/0001-61

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
Non-voling Shares	Closing I	Balance	0.0000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D168 Ltda CPF/CNPJ: 20.618.103/0001-27

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D169 Ltda CPF/CNPJ: 20.618.111/0001-73

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D170 Ltda CPF/CNPJ: 20.618.006/0001-34

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000
Non Voling Chares	Closing l			0.0000
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D172 Ltda CPF/CNPJ: 20.618.020/0001-38

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000
Non Voling Chares	Closing l			0.0000
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D173 Ltda CPF/CNPJ: 20.619.403/0001-20

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•	Closing I	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D174 Ltda CPF/CNPJ: 20.619.386/0001-21

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Palanas	0.0000 0.0000	0.0000 0.0000
	Closing			
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R1 Ltda CPF/CNPJ: 08.977.055/0001-68

Qualification: Controlled / Related Company

#### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> e	g Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R2 Ltda CPF/CNPJ: 09.437.113/0001-23

Qualification: Controlled / Related Company

#### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> e	g Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R3 Ltda CPF/CNPJ: 20.529.575/0001-03

Qualification: Controlled / Related Company

#### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> e	g Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R4 Ltda CPF/CNPJ: 09.226.847/0001-63

Qualification: Controlled / Related Company

#### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> e	g Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R5 Ltda CPF/CNPJ: 14.309.779/0001-36

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 Closino	ı Ralanco	0.0000 0.0000	0.0000 0.0000	
Closing Balance					
		% of participa	ition		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Emprendimentos

Name: Imobiliários R 6 Ltda CPF/CNPJ: 07.394.192/0001-07

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	ı Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R7 Ltda CPF/CNPJ: 09.235.202/0001-97

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Ralance	0.0000 0.0000	0.0000 0.0000
	Closing Balance % of participation			
Type of Conveition/Deviseatives	Ougatitus			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R8 Ltda CPF/CNPJ: 20.529.552/0001-07

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b> e	g Balance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R9 Ltda CPF/CNPJ: 20.529.329/0001-51

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0	Dalamaa	0.0000 0.0000	0.0000 0.0000		
	Closing Balance					
	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R10 Ltda CPF/CNPJ: 20.529.312/0001-02

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 Clasing	Poloneo	0.0000 0.0000	0.0000 0.0000	
Closing Balance					
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R11 Ltda CPF/CNPJ: 20.556.219/0001-89

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R12 Ltda CPF/CNPJ: 20.529.298/0001-39

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R13 Ltda CPF/CNPJ: 20.556.203/0001-76

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R 14 Ltda CPF/CNPJ: 15.011.793/0001-11

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000	0.0000
Tion Towning Change		Balance	0.000	0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R 15 Ltda CPF/CNPJ: 14.312.332/0001-16

Qualification: Controlled / Related Company

# **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
-	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R16 Ltda CPF/CNPJ: 20.556.153/0001-27

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000	
	Closing	Balance	0.000	0.000	
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R17 Ltda CPF/CNPJ: 20.556.139/0001-23

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R18 Ltda CPF/CNPJ: 20.556.229/0001-14

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 <b>Closing</b>	Balance	0.0000 0.0000	0.0000 0.0000	
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R19 Ltda CPF/CNPJ: 20.556.242/0001-73

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R20 Ltda CPF/CNPJ: 07.838.653/0001-93

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 <b>Closing</b>	Balance	0.0000 0.0000	0.0000 0.0000	
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R21 Ltda CPF/CNPJ: 20.556.252/0001-09

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Clasing	Poloneo	0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R22 Ltda CPF/CNPJ: 20.555.787/0001-65

Qualification: Controlled / Related Company

## **Openning Balance**

Quantity	Same type of Shares		Total	
0 0 Closing	Ralance	0.0000 0.0000	0.0000 0.0000	
<del>-</del>				
Quantity	Same type of Shares		Total	
0		0.0000	0.0000 0.0000	
	0 0 <b>Closing I</b> Quantity	0 0 Closing Balance % of participal Same type of Shares	0 0.0000 0 0.0000 Closing Balance % of participation  Quantity Same type of Shares  0 0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R23 Ltda CPF/CNPJ: 20.555.765/0001-03

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	
	Closing	Balance			
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

**BSP** Empreendimentos

Name: Imobiliários R24 Ltda CPF/CNPJ: 20.555.737/0001-88

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000	
	Closing	Balance			
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R25 Ltda CPF/CNPJ: 20.556.263/0001-99

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•	Closing	Balance		
	_	% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários R26 Ltda CPF/CNPJ: 20.556.124/0001-65

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Clasing	Poloneo	0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários S.A CPF/CNPJ: 14.312.353/0001-31

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000	
	Closin	g Balance			
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Park Estacionamentos e

Name: Participações S.A CPF/CNPJ: 14.380.636/0001-10

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	•	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Caetê Holdings

Name: Ltda CPF/CNPJ: 10.429.024/0001-14

Qualification: Controlled / Related Company

#### **Openning Balance**

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
•	Closing Balance		
	% of participati	on	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

Caixa Beneficente dos

Name: Funcionários do Bradesco CPF/CNPJ: 60.514.379/0001-80

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
-	Closing B	alance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Carson Holdings

Name: Ltda CPF/CNPJ: 15.011.719/0001-03

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Celta Holdings

Name: S.A. CPF/CNPJ: 07.394.072/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
Ğ	Closing Balance		
	% of participation	on	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Cerrado Serviços

Name: Ltda. CPF/CNPJ: 10.430.722/0001-30

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
Ç	Closing Balance		
	% of participa	tion	
Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Clube Bradesco de

Name: Seguros CPF/CNPJ: 27.142.751/0001-07

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Columbus Holdings

Name: S.A. CPF/CNPJ: 09.092.789/0001-22

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
•	Closing Balance		
	% of participa	tion	
Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Companhia Securitizadora de

Name: Créditos Financeiros Rubi. CPF/CNPJ: 01.222.069/0001-22

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing Bal</b>	ance	0.0000 0.0000	0.0000 0.0000
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Danúbio Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 07.832.015/0001-65

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000
		Balance	0.000	0.000
		% of participation	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Elba Holdings

Name: Ltda CPF/CNPJ: 07.832.152/0001-08

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	n	
Type of Securities/DerivativesQua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Elvas Holdings

Name: Ltda CPF/CNPJ: 15.012.087/0001-94

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
· ·		Closing Balance		
		% of participation		
Type of Securities/DerivativesQuar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Embaúba Holdings

Name: Ltda CPF/CNPJ: 07.436.414/0001-07

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
•	Closing Balance		
	% of participat	ion	
Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Everest Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 07.832.133/0001-73

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000
rvoir voiling chares	Closing E			0.0000
		% of participation	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Everest Leasing S.A.

Name: Arrendamento Mercantil CPF/CNPJ: 74.533.787/0001-93

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Poloneo	0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ferrara Participações

Name: S.A CPF/CNPJ: 09.225.197/0001-31

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Fundação Instituto de Moléstias do

Name: Aparelho Digestivo e da Nutrição CPF/CNPJ: 61.062.212/0001-98

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 <b>Closing Balance</b>	0.0000 0.0000	0.0000 0.0000
	J	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

Ganant Corretora de

Name: Seguros Ltda CPF/CNPJ: 02.447.678/0001-42

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0	0.000 0.000	
rton voting charos		osing Balance % of participation	0.000
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.000 0.000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ibi Corretora de

Name: Seguros Ltda CPF/CNPJ: 56.348.618/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
		Closing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Imagra Imobiliária e

Name: Agrícola Ltda CPF/CNPJ: 42.362.939/0001-46

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0	0.0000 0.0000	0.0000 0.0000
Non voting charge		losing Balance	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Instituto Assistencial

Name: Alvorada CPF/CNPJ: 59.055.467/0001-81

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Closing Balance	0.0000 0.0000	0.0000 0.0000
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ipê Holdings

Name: Ltda CPF/CNPJ: 07.813.336/0001-12

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	า	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Japira Holdings

Name: S.A. CPF/CNPJ: 08.503.701/0001-55

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
Ğ	Closing Balance		
	% of participati	ion	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Lecce Holdings

Name: S.A. CPF/CNPJ: 14.370.283/0001-78

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Sh	ares	Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
<b>G</b>	Closing Balance		
	% of p	participation	
Type of Securities/DerivativesQuantity	Same type of Sh	ares	Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Lyon Holdings

Name: Ltda CPF/CNPJ: 07.131.859/0001-89

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
-	Closing Balance		
	% of participat	ion	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Manacás Holdings

Name: Ltda CPF/CNPJ: 07.444.731/0001-75

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C		Closing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Manibu Holdings

Name: Ltda CPF/CNPJ: 15.011.796/0001-55

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Maracay Empreendimentos

Name: Imobiliários Ltda. CPF/CNPJ: 15.011.274/0001-53

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0	D. L.	0.0000 0.0000	0.0000 0.0000
	Ciosing	յ Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Marília Reflorestamento e

Name: Agropecuária Ltda. CPF/CNPJ: 02.282.723/0001-56

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000
Non Voling Chares	-	Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Marselha Holdings

Name: Ltda CPF/CNPJ: 08.427.540/0001-68

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
_		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Mediservice Operadora de

Name: Planos de Saúde S.A. CPF/CNPJ: 57.746.455/0001-78

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Miramar Holdings

Name: S.A. CPF/CNPJ: 09.060.272/0001-51

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Qu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives Qu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Mississipi Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 08.977.046/0001-77

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000
Non-voling Shares	Closing	Balance	0.0000	0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Módulo Assessoria em

Name: Seguros Ltda. CPF/CNPJ: 53.409.496/0001-18

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0 Closir	ag Palango	0.0000 0.0000	0.0000 0.0000		
	Closing Balance					
		% of participa	tion			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

MPO - Processadora de

Name: Pagamentos Móveis S.A CPF/CNPJ: 14.882.376/0001-81

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000
ron voing chares	Closing		0.0000	0.0000
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MultiPensions Bradesco - Fundo

Name: Multipatrocinado de Previdência Privada CPF/CNPJ: 02.866.728/0001-26

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0	0.0000 0.0000	0.0000
Non-voing Shares	Closing Balance	0.0000	0.0000
	· ·	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

NCD Participações

Name: Ltda CPF/CNPJ: 48.594.139/0001-37

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Neon Holdings** 

Name: Ltda. CPF/CNPJ: 07.228.194/0001-26

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuant	ity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation	n	
Type of Securities/DerivativesQuant	ity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Nova Cidade de Deus

Name: Participações S.A. CPF/CNPJ: 04.866.462/0001-47

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
Non-voiling Snares	0 <b>Closin</b> ç	g Balance	0.0000	0.0000
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Nova Marília Administração de Bens

Name: Móveis e Imóveis Ltda. CPF/CNPJ: 02.335.940/0001-67

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-	Closing Bala	ance	
	J	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Novamed Gestão de

Name: Clínicas. CPF/CNPJ: 22.485.085/0001-88

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Closing Balance	0.0000 0.0000	0.0000 0.0000
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Promosec Companhia Securitizadora

Name: de Créditos Financeiros CPF/CNPJ: 04.755.953/0001-10

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.00 0.00	
	Closing Bala	ince	
	_	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

PTS Viagens e

Name: Turismo Ltda. CPF/CNPJ: 00.580.230/0001-77

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0 0	0.00 0.00		
Closing Balance % of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0 0	0.00 0.00	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Quixaba Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 09.470.650/0001-75

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
	<b>G</b>	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Quixaba

Name: Investimentos S.A CPF/CNPJ: 10.212.743/0001-89

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Reno Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 07.838.636/0001-56

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Rubi Holdings

Name: Ltda CPF/CNPJ: 04.747.619/0001-15

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	n	
Type of Securities/DerivativesQu	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Scopus Industrial

Name: S.A. CPF/CNPJ: 09.227.001/0001-48

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Quant	ity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives Quant	ity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Scopus Soluções em

Name: TI Ltda CPF/CNPJ: 14.380.750/0001-40

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Closing Balance	0.0000 0.0000	0.0000 0.0000
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Serel Participações em

Name: Imóveis S.A. CPF/CNPJ: 72.712.201/0001-22

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closir	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Settle Consultoria, Assessoria e

Name: Sistemas Ltda CPF/CNPJ: 62.575.378/0001-70

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

ShopFácil Soluções em

Name: Comércio Eletrônico S.A. CPF/CNPJ: 14.370.342/0001-08

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing B	alance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Taíba Holdings

Name: Ltda. CPF/CNPJ: 15.012.611/0001-27

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
Ç	Closing Balance		
	% of participat	tion	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Tandil Holdings** 

Name: Ltda. CPF/CNPJ: 15.010.931/0001-48

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
•	Closing Balance		
	% of participati	on	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Tapajós Holdings

Name: Ltda CPF/CNPJ: 08.427.617/0001-08

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ğ		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Tempo Serviços

Name: Ltda. CPF/CNPJ: 58.503.129/0001-00

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Qual	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation		
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Tibre Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 62.042.890/0001-51

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing Ba</b>	lance	0.0000 0.0000	0.0000 0.0000
	_	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**Tibre Holdings** 

Name: Ltda CPF/CNPJ: 07.838.582/0001-29

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
·	Closing Balance		
	% of participation	n	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

**Titanium Holdings** 

Name: S.A. CPF/CNPJ: 07.131.759/0001-52

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
•	04,005		0.7744	0.3872
Non-Voting Shares	0		0.0000	0.0000
-		% of participat	ion	
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares 21,5	04,005		0.7744	0.3872
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Top Clube Bradesco, Segurança,

Name: Educação e Assistência Social CPF/CNPJ: 76.574.672/0001-72

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 <b>Closing Bala</b> i	0.0000 0.0000	0.0000 0.0000
	J	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Trenton Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 15.012.712/0001-06

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
, and the second	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Treviglio Holdings

Name: Ltda CPF/CNPJ: 14.494.019/0001-46

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation		
Type of Securities/Derivatives Q	uantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

União Participações

Name: Ltda CPF/CNPJ: 05.892.410/0001-08

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 0	0.0	0.0000
Non-Voting Shares 0	0.0	0.0000
·	Closing Balance	
	% of participation	
Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 0	0.0	0.0000
Non-Voting Shares 0	0.0	0.0000
Common Shares 0	0.0	0.000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Varese Holdings

Name: Ltda CPF/CNPJ: 15.121.454/0001-98

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
·	Closing Balance		
	% of participation		
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Veneza Empreendimentos e

Name: Participações S.A. CPF/CNPJ: 08.503.652/0001-50

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares Non-Voting Shares	0 0 Closing F	Ralanaa	0.0000 0.0000	0.0000 0.0000	
	Closing E				
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Viareggio Holdings

Name: Ltda CPF/CNPJ: 14.333.605/0001-09

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000
Non voting charco	Ū	Closing Balance % of participation		0.0000
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Antares Holdings** 

Name: Ltda. CPF/CNPJ: 07.341.926/0001-90

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quanti	ty	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000
G		Closing Balance	
		% of participation	
Type of Securities/Derivatives Quanti	ty	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradespar

Name: S.A. CPF/CNPJ: 03.847.461/0001-92

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	]	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Brumado Holdings** 

Name: Ltda CPF/CNPJ: 08.397.763/0001-20

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
G		Closing Balance		
		% of participat	ion	
Type of Securities/Derivatives Qua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Argentina S.A. CPF/CNPJ: 60.746.948/3759-49

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0		0000 0.0000 0000 0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.	0.0000
Non-Voting Shares	0	0.	0.000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Europa S.A. CPF/CNPJ: 05.720.915/0001-95

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
		Closing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescard México, Sociedad de

Name: Responsabilidad Limitada CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares	0	0.00	0.0000	
Non-Voting Shares	0	0.00	0.0000	
-	Closing Bala	ance		
	· ·	% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares	0	0.00	0.0000	
Non-Voting Shares	0	0.00	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Argentina de

Name: Seguros S.A. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Closin	ig Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco North

Name: America LLC CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Quantity	Same type of Shares		Total
0		0.0000	0.0000 0.0000
U	Closing Balance		0.0000
	% or participat	1011	
Quantity	Same type of Shares		Total
0 0		0.0000 0.0000	0.0000 0.0000
	0 0 Quantity	O Closing Balance % of participat Quantity Same type of Shares	O 0.0000 O 0.0000 Closing Balance % of participation  Quantity Same type of Shares  0 0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Overseas Funchal - Consulting

Name: Services, Sociedade Unipessoal Lda. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Overseas Salzburg

Name: Service GmbH CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 Closing	Balance	0.0000 0.0000	0.0000 0.0000
	Closing	% of participa	tion	
		% or participa	llion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Securities Hong

Name: Kong Limited CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000
Tion Tolling Charco		g Balance	0.0000	0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Securities,

Name: Inc. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Securities UK

Name: Limited CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares Non-Voting Shares	0 0	0.0000 0.0000 Closing Balance			
	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares Non-Voting Shares	0 0	0.0000 0.0000			

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Bradesco Services** 

Name: Co., Ltd. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**Bradesco Trade Services** 

Name: Limited CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000
	(	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradeseg

Name: Participaciones S.A. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Closing Balance	0.0000 0.0000	0.0000 0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradport - S.G.P.S. Sociedade

Name: Unipessoal, Lda CPF/CNPJ: 08.451.147/0001-00

Qualification: Controlled / Related Company

**Openning Balance** 

Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
_	% of participa	ation	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	0 Closing I Quantity	O Closing Balance  % of participal Same type of Shares  Quantity  Same type of Shares	O 0.0000 O 0.0000 Closing Balance % of participation  Quantity Same type of Shares  0 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bram US LLC CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
_		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Brasilia Cayman

Name: Investments II Limited CPF/CNPJ: 10.219.076/0001-66

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
3 - 1 - 1		g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Brasilia Cayman

Name: Investments III Limited CPF/CNPJ: 10.219.075/0001-11

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closin	g Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Cidade Capital

Name: Markets Ltd CPF/CNPJ: 05.722.656/0001-31

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 0 Non-Voting Shares 0		0.000 0.000 0.000
Worr voting chares	Closing Balance	0.0000
	% of participation	
Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 0	0.0	0.0000
Non-Voting Shares 0	0.0	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

Millennium Security

Name: Holdings Corp CPF/CNPJ: 05.557.784/0001-77

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000
-	CI	osing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

RFS Human Management, Sociedad

Name: de Responsabilidad Limitada CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing Balan	ce	
	J	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Scopus Tecnología México, Soc. de Responsabilidade Limitada de Capital

Name: Variável CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

A-Prev - Sociedade de

Name: Previdência Privada CPF/CNPJ: 00.633.444/0001-64

Qualification: Controlled / Related Company

## **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closin</b>	g Balance	0.0000 0.0000	0.0000 0.0000
	0.00	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Fazenda Santa Esperança

Name: Ltda. - ME CPF/CNPJ: 00.182.981/0001-35

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closin	g Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Telecel

Name: Telecomunicações Ltda CPF/CNPJ: 67.756.338/0001-49

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alpha Serviços de Rede de

Name: Autoatendimento S.A CPF/CNPJ: 09.092.759/0001-16

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance		
	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**CEABS** Serviços

Name: S.A CPF/CNPJ: 14.117.458/0001-30

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQuanti	ty	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
<b>Q</b>		Closing Balance		
		% of participation	i	
Type of Securities/DerivativesQuanti	ty	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Elo Holding

Name: Financeira S.A CPF/CNPJ: 09.235.082/0001-28

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quanti	ity	Same type of Shares	Total
	0	0.00 0.00	
Non-voling Shares	U	Closing Balance	0.0000
		% of participation	
Type of Securities/Derivatives Quanti	ity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Europ Assistance Brasil Serviços

Name: de Assistência S.A CPF/CNPJ: 01.020.029/0001-06

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing B	alance		
	•	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

EABS Serviços de Assistência e

Name: Participações S.A CPF/CNPJ: 09.060.236/0001-98

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.000	0.0000
_	Closing E	salance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.0000	0.0000
Non-Voting Shares	0	C	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Nova Paiol

Name: Participações Ltda CPF/CNPJ: 04.278.130/0001-41

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0	Clasing Palance	0.0000 0.0000	0.0000 0.0000
Closing Balance				
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco S.A. New

Name: York Branch CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000
14011 Voting Onares		g Balance	0.0000	0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco S.A. Grand

Name: Cayman Branch CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BES Investimento do Brasil S.A. -

Name: Banco de Investimento CPF/CNPJ: 34.111.187/0001-12

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Closing Bal</b>		0.0000 0.0000	0.0000 0.0000
	J	% of participat	iion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Crediare S.A. Crédito, financ.

Name: E Investimento CPF/CNPJ: 05.676.026/0001-78

Qualification: Controlled / Related Company

**Openning Balance** 

Quantity	Same type of Shares		Total
0 0 Closing	Ralance	0.0000 0.0000	0.0000 0.0000
Closing		ation	
Quantity	Same type of Shares		Total
0		0.0000	0.0000 0.0000
	0 0 Closing	O Closing Balance  Quantity  Same type of Snares  % of participal Same type of Shares	O 0.0000 O 0.0000 Closing Balance % of participation  Quantity Same type of Shares  0 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Leader S.A. Adm. De

Name: Cartões de Crédito CPF/CNPJ: 04.201.672/0001-16

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closino	g Balance		
	•	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Cia. Leader de Promoção

Name: de Vendas CPF/CNPJ: 07.504.125/0001-06

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Closin	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Odontoprev

Nome: S.A. CPF/CNPJ: 58.119.199/0001-51

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	1	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Integritas

Name: Participações S.A. CPF/CNPJ: 05.505.174/0001-20

Qualification: Controlled / Related Company

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Fleury S.A. CPF/CNPJ: 60.840.055/0001-31

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	30		0.0000	0.0000
Non-Voting Shares	39		0.0000	0.0000
-		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	30		0.0000	0.0000
Non-Voting Shares	39		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

IRB-Brasil

Name: Resseguros S.A. CPF/CNPJ: 33.376.989/0001-91

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 0 Non-Voting Shares 0	0.00	
Non-Voting Shares 0	Closing Balance	0.0000
	% of participation	
Type of Securities/Derivatives Quantity	Same type of Shares	Total
Common Shares 0	0.00	0.0000
Non-Voting Shares 0	0.00	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Fidelity Processadora e

Name: Serviços S.A. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		
Closing Balance						
% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: IT Partners CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

**CPM Holdings** 

Name: Ltd CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of		·		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•		Closing Balance		
		% of participation	n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Elo Participações

Name: S.A. CPF/CNPJ: 09.227.099/0001-33

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives C	uantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
		Closing Balance			
		% of participation			
Type of Securities/Derivatives C	(uantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Elo Serviços

Name: S.A. CPF/CNPJ: 09.227.084/0001-75

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	1	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Cia. Brasileira de Soluções e

Name: Serviços – Alelo CPF/CNPJ: 04.740.876/0001-25

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0 Closing	Ralance	0.0000 0.0000	0.0000 0.0000		
	Closing Balance % of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000		

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Ibi Promotora de

Name: Vendas CPF/CNPJ: 74.481.201/0001-94

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total	
Common Shares	0	0.	0000	0.0000	
Non-Voting Shares	0	0.	0000	0.0000	
-		Closing Balance			
	% of participation				
Type of Securities/Derivatives Qua	ntity	Same type of Shares		Total	
Common Shares	0	0.	0000	0.0000	
Non-Voting Shares	0	0.	0000	0.0000	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Cielo S.A. CPF/CNPJ: 01.027.058/0001-91

Qualification: Controlled / Related Company

**Openning Balance** 

		70 0. papa		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Cielo Cayman

Name: Islands CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
· ·	Closing Balance		
	% of participation		
Type of Securities/Derivatives Quantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Cielo USA Inc. CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

		, , , ,   p an a a   p an a a	-	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	1	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Merchant

Name: e-Solutions CPF/CNPJ: 00.000.000/0000-00

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/DerivativesQua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
ŭ		Closing Balance		
		% of participation	on	
Type of Securities/DerivativesQua	antity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Multidisplay Com. E Serviços

Name: Tecnológicos S.A. CPF/CNPJ: 04.193.879/0001-96

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares Non-Voting Shares	0		0.0000 0.0000	0.0000 0.0000			
Closing Balance							
		% of participat	ion				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total			
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000			

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

M4 Produtos e

Name: Serviços S.A. CPF/CNPJ: 09.614.276/0001-34

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
_		Closing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Servinet Serviços

Name: Ltda CPF/CNPJ: 01.416.845/0001-25

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives Quantit	ty	Same type of Shares		Total
Common Shares (	0		0.0000	0.0000
Non-Voting Shares (	0		0.0000	0.0000
· ·		Closing Balance		
		% of participatio	n	
Type of Securities/Derivatives Quantit	ty	Same type of Shares		Total
Common Shares (	0		0.0000	0.0000
Non-Voting Shares (	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Braspag Tecnologia em

Name: Pagamento Ltda CPF/CNPJ: 07.355049/0001-06

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000 0.0000	0.0000 0.0000
Non-Voting Shares	0 <b>Closin</b> e	g Balance	0.0000	0.0000
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Companhia Brasileira de

Name: Gestão de Serviços CPF/CNPJ: 02.533.940/0001-71

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Prevsaúde Comercial de Produtos e

Name: Serviços de Farmácia Ltda CPF/CNPJ: 01.633.914/0001-52

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	
Non-Voting Shares	0	0.0000	0.0000
	Closing Balar	nce	
	J	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Guilher Com., Importação, Exportação e Dist de Medi e Tecnologia para a Saúde

Name: Ltda CPF/CNPJ: 14.531.460/0001-50

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0 Closing Balance	0.0000	0.0000
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Paggo Soluções e Meios de

Name: Pagamentos S.A. CPF/CNPJ: 09.311.289/0001-34

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ç	Closing	Balance		
	J	% of participa	ntion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

### Company: Banco Bradesco S.A.

Aliança Pagamentos e

Name: Participações Ltda. CPF/CNPJ: 20.300.867/0001-70

Qualification: Controlled / Related Company

### **Openning Balance**

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
•	Closin	g Balance		
	·	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Stelo S.A. CPF/CNPJ: 14.625.224/0001-01

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Caetano Gestão de Contas de

Name: Pagamento S.A. CPF/CNPJ: 20.247.380/0001-70

Qualification: Controlled / Related Company

**Openning Balance** 

Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
	Closing I	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

#### **SIGNATURES**

Pursuant to the requirements of the Securities Exchange Act of 1934, the registrant has duly caused this report to be signed on its behalf by the undersigned, thereunto duly authorized.

Date: March 13, 2017

	Luiz Carlos Angelotti Executive Managing Officer and
By:	/S/ Luiz Carlos Angelotti
BANCO BRADESCO S.A.	

#### FORWARD-LOOKING STATEMENTS

**Investor Relations Officer** 

This press release may contain forward-looking statements. These statements are statements that are not historical facts, and are based on management's current view and estimates of future economic circumstances, industry conditions, company performance and financial results. The words "anticipates", "believes", "estimates", "expects", "plans" and similar expressions, as they relate to the company, are intended to identify forward-looking statements. Statements regarding the declaration or payment of dividends, the implementation of principal operating and financing strategies and capital expenditure plans, the direction of future operations and the factors or trends affecting financial condition, liquidity or results of operations are examples of forward-looking statements. Such statements reflect the current views of management and are subject to a number of risks and uncertainties. There is no guarantee that the expected events, trends or results will actually occur. The statements are based on many assumptions and factors, including general economic and market conditions, industry conditions, and operating factors. Any changes in such assumptions or factors could cause actual results to differ materially from current expectations.